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12.05.2022 5.00AM - 6.30AM UNIT-11,12,13
THURSDAY REVISION
8.00AM —9.30AM UNIT — 14 PREPARATION TEST 16
9.45AM - 11.30AM UNIT-11,12,13,14
REVISION
11.45AM - 12.45PM ONE MARK DISCUSSION
2.00PM - 5.30PM REVISION 1 TEST 17
6.00PM - 10.00PM REVISION 2 TEST 18
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I. Choose the correct answer 15x1=15
1. Oxidation state of carbon in its hydrides
a.+4 b. -4 c.+3 d. +2
2. MnO, react with Br-in alkaline pH to give
a. BrO;, MnO> b. Brz, MnO 3 c. Brz, MnO> d. BrO-, MnO ;
3. The fraction of total volume occupied by the atoms in a simple cubic is,
T T T T
a.| —= b.( = c.|— d. | —=
(%) te) 3) 5%)
4. Which of the following fluro - compounds is most likely to behave as a Lewis base?
a. BF3 b. PF3 c. CFy d. SiF4
5. The phenomenon observed when a beam of light is passed through a colloidal solution is
a. catachresis b. electrophoresis c. Coagulation d. Tyndall effect
6. Which one of the following reduces Tollen’s reagent.
a. formic acid b. acetic acid c. benzophenone d.none of these
7. Ina protein, various amino acids liked together by
a. peptide bond b. Dative bond c. a - Glycosidic bond d. B- Glycosidic bond
8. H2PO ; the conjugate base of
a.PO Y b. P20s c. H3PO4 d. HPO?
9. Which boron is used as a rocket fuel igniter
a. Amorphous b. Crystalline c. Silicate d. Borax
10. The catalyst used in oxo process is
a. Coz (CO)s b. Rh / Ir Complex c. TiCls+ Al(C2Hs)3 d. Ni/Hz
11.ZnO is colourless at room temperature.When it is heated, it becomes yellow in colour because
of
a. Schottky defect  b. Frenkel defect c. Metal excess defect d. Metal deficiency defect
12. Ostwald dilution law is applicable for
a. Acetic acid b. NH4,OH c. HCl d.Botha &b
13. In Haber’s process of manufacture of ammonia, the activity of the iron catalyst is incrased by
a. Molybdenum b. Platinum c. Nickel d. copper
14. Benzophenone does not form addition product with NaHSO3
a. Inductive effect  b. mesomeric effect c. Steric effect d. None of the above
15. Starch is react with Iodine solution gives
a.Red b. Blue c. Violet d. Green
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I. Choose the correct answer 15x1=15
1. Cupellation is a process used for the refining of
a. Silver b. Lead c. Copper d. Iron
2. Which of the following statements is not correct?
a. Beryl is a cyclic silicate b. Mg,Si04 is an ortho silicate
c. Si04* is the basic structural unit of slilicates d. Feldspar is not alumino silicate
3. The actinoid elements which show the highest oxidation state of +7 are
a. Np, Pu, Am b.U, Fm, Th c¢. U, Th, Md d. Es, No, Lr
4. CsCl has bcc arrangement its unit cell, edge Length is 400 pm. its inter atomic distance is
a. 400 pm b. 800 pm c. v3x 100 pm d. (?)x400pm
5. Consider the following statements:
i) increase in concentration of the reactant increases the rate of a zero order reaction.
ii) Rate constant K is equal to collision frequency A if E;=0
iii) Rate constant K is equal to collision frequency A if E. = o0
iv) a plot of In k Vs T is a straight line
v) Aplotoflnk Vs 1/T is a straight line with a positive slope.
correct statements are
a) ii only b.ii and iv c.liandv d.i,iiand v
6. Assertion : Phenol is more acidic than ethanol
Reason : Phenoxide ion is resonance stabilized
a. if both assertion and reason are true and reason is the correct explanation of assertion
b. if both assertion and reason are true but reason is not the correct explanation of assertion.
c. assertion is true but reason is false
d. both assertion and reason is false.
7. Which of the following represents the correct order of acidity in the given compounds
a. FCH,COOH > CH3COOH>BrCH2COOH > CICH,COOH
b. FCH2COOH > CICH2COOH>BrCH,COOH>CH3COOH
c. CH3COOH> CICH2,COOH> FCH2COOH > Br-CH,COOH
d. CICH2COOH> CH3COOH> BrCH, COOH> CH.COOH
8. Nitrobenzene on reaction with at 80 - 100°C forms which one of the following products?
a. 1,4- dinitrobenzene b. 2,4,6 - trinitrobenzene
c. 1, 2 - dintrobenzene d. 1,3 - dinitrobenzene
9. Bonding energy of N2 molecule
a. 220 cal mol? b. 223 cal mol-1 c. 225 cal mol! d. 230 cal mol-!
10. Which is strong base
a. HNO2 b. HSO4 c. NHz- d. CI
11. Ecen should be positive and AG value -----------------
a. Positive b. Negative c. neutral d. None of the above.
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Match the List - I with List - Il and select the correct answer using the code given below

List -1 List - 11
1.K-term a) K[ PtClz(CzH4)]
2. Zeise’s salt b) [Pt (NHs3)4] [PtCl4]
3. Mangnus'’s green c. [(Pphs) RhCl]
4, Willikinson’s catalyst d. Ambidendate ligand
1 2 3 4 1 2 3 4
a) a d b C b) b d C
c) d C b a d) d a b c
Intermediate compound theory fails to explain ---------------------
a. catalytic poison b. Promoters
c. mechanism of heterogeneous catalyzed reaction d. All of these.
Glycogen is also called -------------
a. Glucose  b. amylopectin c. animal starch d. None of the above.
Which one is non - ionic detergent
a. n - hexadecyltrimethyl ammonium chloride b. Sodium Lauryl sulphate
c. Pentaerythrityl stearate d. All the above

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII ONE MARK TEST -3 MARKS:
SUB :CHEMISTRY TIME:2.30Hrs
I. Choose the correct answer 15x1=15
1. Match items in Column - I with the items of Column - II and assign the correct code
Column -1 Column - 11
A. Cyanide process i) Ultra pure Ge
B. Froth - floatation Process ii) Dressing of ZnS
C. Electrolytic reduction iii) Extraction of Al
D. Zone refining iv) Extraction of Au
v) Purification of Ni
A B C D A B C D
a) i ii iii iv b) iii iv \4 i
c) iv ii iii | d) ii iii | \%
2. Boricacid is an acid because its molecule
a. Contains replaceable H* ion
b. Gives up a proton
c. Combines with proton to form water molecules
d. accepts OH- from water releasing proton.
3. The correct order of the thermal stability of hydrogen halide is
a. HI> HBr> HCI> HF b. HF > HCI > HBr >HI
c. HCl > HF > HBr > HI d. HI > HCI > HF > HBr
4. A complex in which the oxidation number of the metal is zero is
a. K4 [ Fe(CN)e b. [Fe(CN)3 (NH3z)3 ] c. [Fe(CO)s] d.Both (b) and (c)
5. If75% of a first order reaction was completed in 60 minutes, 50% of the same reaction order
the same conditions would be complete in
a. 20 minutes b. 30 Minutes c. 35 Minutes d. 75 Minutes
6. Among the following cells
I. Lechanche cell II. Nickel - Cadmium cell
III. Lead - storage battery [V. Mercury cell primary cells one
a.land IV b. I and III c.llland IV d. Il and III
7. Which one of the following is strongest acid
a. 2-nitrophenol b. 4 - chloro phenol C. 4 - nitro phenol d. 3 - nitro phenol
8. The product formed by the reaction an aldehydes with a primary amine
a. Carboxylicacid b. aromatic acid c. Schiff base d. ketone
9. Assertion : A solution of sucrose in water is dextrorotary but on hydrolysis in the presence of

little hydrochloric acid it becomes Levorotatory.

Reason : Sucrose hydrolysis gives unequal amounts of glucose and fructose, As a result of this
change in sign of rotation is observed.

a. If both assertion and reason are true and reason is the correct explanation of assertion.

b. If both assertion and reason are true and reason is the not explanation of assertion.

c. If assertion is true but reason is false

d. If both assertion and reason is false
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10. Terylene (or) Dacron are prepared by

a. Glycerol and terphthalic acid b. Ethylene glycol and terphthalate

c. Glycerol and phenolic acid d. Ethylene glycol and phenolic acid
11. Which is used in the manufacture of thermosoftening plastic "Perspex’

a. Formaldehyde b. Acetaldehyde c. Acetone d. Acetophenone
12. Which is example of foam

a. milk b. paints c. Buffer d. Sodawater
13. Which pH scale are used the Hydrolysis of salt of strong acid and weak acid.

a.pH=7+1/2 pKa + 1/2Logc b.pH=7-1/2 pKb - %2 logC

c.pH=7+1/2 pKa - %2 pKa d. None of these
14. Which more stable

a. Fe2+ b. Fe2+ c. Mn2+ d.a &c

15. Atoms x and Y form bcc crystalline structure Atom x is present at the corners of the cube and Y
is at the centre of the cube. What is the formula of the compounds.
a. XY b. XY> Cc. XY4 d. X4Xo
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1. Duralumin is an alloy of
a) Cu,Mn b) Cu,ALLMg c) ALMn d) Al,Cu,Mn,Mg

2. XeFs on hydrolysis produces
a. XeOFsb. XeO:zFz c. XeO3 d. XeO2

3. Assertion : monoclinic sulphur is an example of monoclinic crystal system
Reason : for monoclinic system, a+b = cand ot =6 = 900 3 = 900
a) Both assertion and reason are true and reason is the correct explanation
of assertion.
b) Both assertion and reason are true but reason is not the correct
explanation of assertion.
c) Assertion is true but reason is false.
d) Both assertion and reason are false.

4. The solubility of AgCl(s) with solubility product 1.6x10-10in 0.1cm NaCl
solution could be

a. 2x10-3M b.1.6x10-°M c. 1.6x10-11M d. 200
5. Match the following

a. Para Nitrogen - i) Chlorine

b. Haber process - ii) Sulphuric acid

C. contact process - iii) Ammonia

d. Deacons process - - iv) Sodium azide of Banium Azide

Which of the following is the correct options.

ABCDABCD

a) (1) (i) (iii) (iv) b) (ii) (iv) (i) (ii)

c) (iii) (iv) (ii) (i) d) (iv) (iii) (ii) (i)
6. CH3Brken (A)oey (B) ees (C) product CC ois

a. Acetyl chloride b. Chloro acetic acid

c. a- chlorocyano ethanoic acid d. none of these
7. Which of the following amino acids are achisal

a. Alanine b. Leucine c. Pyridine d. Glycine
8. Wolframite ore is separate from tinstone by the process of

a. Smelting b.Calcination

c.Roasting d. Electromagnetic separation
9. Secondary nitro alkanes react with nitrous acid to form

a) red solution b) blue solution

c) green solution d) yellow solution
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10. Oxidationof glycerol with bisamlth nitrate give as
a. Meso oxalic acid b. glycolic acid
c. oxalic acid d. glyconose
11. Which of the following electrolytic solution has the least specific
conductance
a. 2N b. 0.002N c. 0.02N d. 0.2N
12. If the initial concentration of the reactant is doubled ,the time for half
reaction is also doubled .Then the order of the reaction is
a. Zero b. One c. Fraction d. None
13. Adsorption of a gas on solid metal surface is spontaneous and exothermic,
then
a) AH increases b) AS increases c) AG increases d) AS decreases
14. Which is pyramidal shape of xenon compounds

a. XeF2 b. XeFs c. XeOs d. XeOF2
15. Important ores of Aluminium is
a. Al203nH20 b. Al203H20 c. AlsSi203 (OH)4 d. None of these

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII ONE MARK TEST -5 MARKS: 15
SUB :CHEMISTRY TIME: 30Mins
I. Choose the correct answer 15x1=15

1. Zone refining method is based on the principles of

a. Fractional distillation b. Fractional crystallization

c. Steam distillation d. distillation
2. In diborane, the number of electrons that accounts for banana bonds is

a. Six b. Two c. four d. three
3. In sulphur dioxide, sulphur atom undergoes a ---------------- hybridisaiton

a. sp b. sp? c. sp? d. sp3d

4. Which one of the following statements related to lanthanides is incorrect?
a. Europium shows +2 oxidation state
b. The basicity decreases as the ionic radius decreases from Pr to Lu.
c. All the lanthanide are much more reacting than aluminum
d. Ce** solutions are widely used as oxidizing agents in volumetric analysis
5. The secondary valence of a metal ion is satisfied by

a. Neutral b. Negative C. positive d. All of these
6. Match the following

A. Cubic - 1.a=b=C

B) Rhombohedral - 2.0==90905=1200

C) Hexagonal - 3.a=b=C

D) Tetragonal - 4.00=pB=0=900

a)A-1, B-2, C-3 d-4

b) A - 4, B-3, C-2, d-1

c) A- 4, B-3, C-1, d-2

d) A-2 B-4, C-2 d-1

th
7. Alter 2 hours a radioactive substance becomes (%j of original amount than the

half life is

a. 60 min b. 30min c. 120min d. 15min
8. Calculate the pH of 10-8M H2S04

a. 7 b. 8 c.12 d.2

9. During electrolysis of molten NacCl, the time required to produce 0.1 mol of
chlorine gas using a current of 3A is
a. 55 min b.107.2min c. 220 min d. 330 min
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10. Assertion : Coagulation power of Al3* is more than Na*.
Reason : Greater the valency of the flocculating ion added, greater is its power to
cause precipitation.
a) if both assertion and reason are true and reason is the correct explanation of
assertion.
b) if both assertion and reason are true but reason is not the correct explanation
of assertion.

c) assertion is true but reason is false d) both assertion and reason are false.
11. In the Ethanol ——— X —=55 Y 00257 reaction The ‘Z’ is
a) ethane b) ethoxy ethane c) ethylbisulphite d) ethanol

12. Which acids is not prepared by using Grignard reagent.

a. HCOOH b. CH3COOH c. CH3CH2COOH d. CéHsCOOH
13. Which one of the following is most basic?

a) 2,4 - dichloroaniline b) 2,4 - dimethyl aniline

c) 2,4 - dinitroaniline d) 2,4 - dibromoaniline
14. Hydrolysis of Insulin gives

a. Glucose b. Fructose c. Cellulose d. Maltose
15. Dettol is the mixture of

a) Chloroxylenol and bithionol b) Chloroxylenol and a-terpineol

c) phenol and iodine d) terpineol and bithionol
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I. Choose the correct answer 15x1=15

1. The following set of reactions are used in refining Zirconium
Zr (impure) + 212 523K Zrl4
Zr14 1800K Zr(pure) + 212 This method is known as
a) Liquation b) van Arkel process c) Zone refining d) Mond’s process

2. Among the following the correct order of acidity is
a. HCIO2 < HCIO < HCI03 < HCIO4 b. HC104 < HCIO2 < HCIO < HCIO3
c. HClI03<HCI04<HCI03 < HCIO d. HCIO<HCIO2< HCIO3<HCl04

3. IUPAC name of the complex K3[Al(C204)3 is
a. Potassiumtrioxalatoaluminium (III) b. Potassiumtrioxalatoaluminate (II)
c. Potassiumtrioxalatoaluminate (III) d. Potassiumtrioxalatoaluminate (III)
4. The addition of a catalyst during a chemical reaction alters which of the following
quantities?
a. Enthalpy b.Entropy c. Activation energy d. Internal energy.

5. How many faradays of electricity are required for the following reaction to occur
MnO4— Mn2+
a) 5F b) 3F c) 1F d) 7F
6. The formation of cyanohydrins from acetone is an example of
a. nucleophilic substitution b. electrophilic substitution
c. electrophonic addition d. Nucleophilic addition
7. Secondary nitro alkenes react with nitrous acid to form.
a. red solution b. blue solution  c. green solution d. yellow solution

8. Assertion : Acetamide on reaction with KOH and bromine gives acetic acid
Reason : Bromine catalyses hydrolysis of acetamide.
a) if both assertion and reason are true and reason is the correct explanation of
assertion.
b) if both assertion and reason are true but reason is not the correct explanation of
assertion.
C) assertion is true but reason is false d) both assertion and reason are false.

9. The number of sp2 and sp3 hybridised carbon in fructose are respectively

a)1and 4 b) 4 and 2 c)5and 1 d)1and5
10. The order of basicity of aliphatic amines is
a. R3N < R2NH < R-NH2 b. R2ZNH > R-NH2 > R3N
c. R-NH2 > R2-NH > R3N d. R3N > R2NH > R-NH2
11. Give the example of Liquid - solid
a. Ink b. Smoke c. Butter d. pearls.
12. pH scale is discovered by
a. Sorensen b. Williamson c. U.N. Lewis d. Arrhenius
13. Which metal is used doping process
a. Fe b. As c. Si d.P
14. The radioactive lanthanide is
a. Ytterbium b. Iron c. Promethium d. Copper
15. Abbrevation of BNCT
a. Broad Neutron Capture Therapy b. Boron Neutron Capture therapy
c. Boron Nuclei Capture Technology d. Boron Neutron capture Technology

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII ONE MARK TEST -7 MARKS: 15
SUB :CHEMISTRY TIME: 30Mins
I. Choose the correct answer 15x1=15

1.

10.

11.

12.

13.

14.

15.

Among the following which is the strongest oxidizing agent?

a. Clz b. F» c.Br; d
Choose the incorrect match
a. Metal oxide formation
b. Co formation

positive slope
negative slope

c. Metal oxide presentin lowerend - Reducingagent

d. Fez O3 reduced with Co - book

How many geometrical isomers are possible for [Pt(Py) (NH3)(Br)(Cl)]?

a.3 b. 4 c.0 d. 15

Simple cubic packing occupy volume

a. 68% b.53.31% c. 52.31% d. 86%

Which of the following fluro - compounds is most likely to behave as a Lewis base?
a. BF3 b. PF3 c. CF4 d. SiF4

How many faradays of electricity are required for the following reaction to occur
MnO-4 —>Mn?*

a.5F b. 3F c. 1F d. 7F

Saccharin, an artificial sweetener is manufactured from.

a. Cellulose b. toluene c. Cyclohexene d. starch

Among the following the a chiral amino acid is
a. 2 - ethylalanine - b. 2-methylglycine c¢. 2-hydroxymethylserine d. tryptophan
Producer gas is a mixture of

a.CO and N2 b. COz and H> c. CO and H2 d. COz and N>

Which of the following ions is paramagnetic

a. Sc3+ b. Cu* c. Zn?* d. Ni2+

Fog is colloidal solution of

a. solid in gas b. gas in gas c. liquid in gas d. gas in liquid

The mixture of glycerose is

a. Glyceric acid + Tartronic acid b. Mesoxalic acid + Oxalic acid

c. Glyceraldehyde + Dihydroxyacetone d. Glyceraldehyde + Tartronic acid
Which one is used hypnotic

a. Acetaldehyde b. Acetic acid c. Hypnotic d. formalin
CH3-N-CH-CHs  The IUPAC Name is

C2Hs CH3
a. N - Methyl -N-Ethyl Propan -2-amine b. N-ethyl-N-methyl butance -3-amine
c. N - ethyl -N- methyl Propan -2- amine d. None of the above.
The most effective electrolyte for the coagulation of AS2S3 Sol is
a. NaCl b. Ba(NO3): c. K3[Fe(CN)s] d. None of these.
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I. Choose the correct answer 15x1=15
1. The metal oxide which cannot be re reduced to metal by carbon is
a. PbO b. Al203 c.ZnO d. FeO
2. The elements generally existing as liquid at room temperature
a. Thallium b. Indium c. Gallium d. Aluminium
3. Which one of the following compounds is not formed?
a. XeOF4 b. XeO3 c. XeF> d. NeF;
4. The atomic radii of the elements are almost same of which series
a. Li-Be-B b. Na-K-Rb c. F-CI-Br d. Fe-co-Ni
5. Which kind of isomerism is possible for a complex [CoCNH3)4Brz]CI?
a. Geometrical and ionization b. geometrical and optical
c. Optical and ionization d. geometrical only
6. Which of the following exists as covalent crystals in the solid state?
a. Sulphur b. Phosphorous c. lodine d. Silicon

7. If the initial concentration of the reactantis doubled, the time for half reaction is also doubled.
Then the order of the reaction is
a. Zero b. One c. Fraction d. None

8. Conjugate base for bronsted acids H20 and HF are
a. OH- and H;FH-1respectively b. H30+* and F- respectively

c) OH- and F-1respectively b. H30+* and HzF* respectively
9. The equivalent conductance is equal to molar conductance in the case of
a. NazS04 b. MgS04 c. H2S04 d. NaCl
10. The iron catalyst used in the Haber process is polsuned by
a. Pt b. H c. HoS d. AS;03

11. On reacting with neutral ferric chlorate, Phenol gives

a. red colours b. violet colours c. dark green colour d. No colourisation.
12. The reagent used to distinguish between acetaldehyde and benzaldehyde is

a. Tollens reagent  b. Fehling’s solution c. 2,4- dinitrophenyl hydrazine d. semicarbazide
13. Gabriel phthalimide synthesis is used in the preparation of

a. primary aromatic amines b. primary aliphatic amines

c. secondary amines d. Tertiary amines
14. Insulin, a hormone chemically is

a. Fat b. Steroid c. protein d. carbohydrates
15.H202 is used as a -----------

a. Disinfectant b. Tetra cyclones c. Antiseptics d. Antipyretics
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SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII ONE MARK TEST -9 MARKS: 15
SUB :CHEMISTRY TIME: 30Mins
I. Choose the correct answer 15x1=15
1. Which of the following is used for concentrating ore in metallurgy?
a. Leaching b. Roasting c. Froth flotation d. Both (a) and (c)
2. Which metal present in cell Wall
a.Na b. Al c.B d.C
3. Most easily liquefiable gas is
a. Ar b. Ne c. He d. Kr
4. Which of the following shows oxides is basic?
a. Mn203 b. MnO c. MnO; d. Mnz07
5. Crystal field stabilization energy for high spin d> octahedral complex is
a.-0.6A0 b.0 c. 2(p-Ao) d. 2(p+Ao)
6. For cubic coordination the value of radius ratio is
a.0.414-0.732 b.0.225-0.414 c. 0.000-0.225 d. 0.732-1.000
7. 1f75% of a 1st order reaction was completed in 60 mins, 50% of the same reaction under the
same conditions would be completed in
a. 20mins b. 30mins c. 35mins d. 75 mins
8. Which of these is not likely to act as Lewis base?
a. BF3 b. PF3 c. CO d. F-
9. For the cell reaction
2Fe3*(aq) + 2I'(aq) >2Fe?*(aq) + I2(aq)
EOcen = 0.24V at 298K. The standard Gibbs energy ( A, G°) of the cell reactions is :
a.-46.32 K] mol?!  b.-23.16 K] mol-! €.46.35 K] mol-! d. 23.16 K] mol1
10. Match the following
A) Pure nitrogen i) Chlorine
B) Haber process ii) Sulphuric acid
C) Contact process iii) Ammonia

11.

12.

13.

14.

15.

D) Deacons Process iv) sodium azide(or) Barium azide
Which of the following is the correct option?

ABC D A B C D

a) (1) (if) (iif) (iv) b) (i) (iv) (1) (ii)
c) (iii) (iv) (ii) (i) d) (iv) (iii) (ii) (i)

Carbolic acid is

a. Phenol b. Picric acid c. benzoic acid d. Phenyl lactic acids
In which of the following reactions new carbon - carbon bond is not formed?

a. Aldol condensation b. Friedel craft reaction

c. Kolbe’s reaction d. Wolf kishner reduction

Sunday nitro alkanes react with nitrous acid to form.

a. red solution b. blue solution c. green solution d. yellow solution
Which of the following amino acids are achiral?

a. Alanine b. Leucine c. Proline d. Glycine
Which of the following is a co - polymer?

a. Orlon b. PVC c. Teflon d. PHBV.
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SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII ONE MARK TEST - 10 MARKS: 15
SUB :CHEMISTRY TIME: 30Mins
I. Choose the correct answer 15x1=15

1. Which one of the following ore is best concentrated by froth - floatation method?

a. Magnetite b. Hematite c. Galena d. Casiterite
2. Which compound is used as flux in metallurgy?
a. Boric acid b. Borax c. Diborane d. BF3
3. The shape of XeOF4 is
a. T Shaped b. Pyramidal c. Square planar d. Square pyramidal
4. How many moles of acidified KMnO4 required to oxidize one mole of oxalic acid?
a.5 b. 0.6 c. 1.5 d. 0.4
5. The type of isomerism exhibited by [Pt(NH3)2Cl2]?
a. Coordination isomerism b. linkage isomerism
c. optical isomerism d. geometrical isomerism

6. The fraction of the total volume occupied by the atoms in a fcc is

a.z c.z d.&

b "
6 N7 4 8

7. The half life period of a radioactive element is 140 days. After 280 days 1g of element will be
reduced to which amount of ht following?

a. l b. i C. E d. E
4 16 8 2

8. Which is nota Lewis base?
a. BF3 b. PF3 c. CO d.F

9. During electrolysis of molten copper chloride, the time required to produce 0.2 mole of
chlorine gas using a current of 2A is
a. 32.66min b.321.66 min c. 378 min d. 260 min

10. Smoke is a colloidal solution of

a. Solid in gas b. Gas in gas c. Liquid in gas d. Gas in liquid
11. Isopropyl benzene on oxidation in presence of air and dilute acid gives
a. CeHsCOOH b. CsHsCOCH3 c. CeHsCOCsHs d. CéHsOH
12. But - 2-ene on Ozonolyis followed by subsequent cleavage with Zn and water gives
a. ethanal b. Propanal c. Propanone d. Methanal
13. Aniline + benzoyl chloride —2%" 5 C¢HsNH-OC- C¢Hs This reaction is known as
a. Friedal - craft’s reaction b. HVZ reaction
c. Schotten - Baumann reaction d. Cannizaro reaction

14. The pyrimidine bases present in DNA are
a. Cytosine and Adenine b. Cytosine and Guanine
c. Cytosine and Thiamine d. Cytosine and Uracil
15. Nylon is an example of
a. Polyamide b. Polythene c. Polyester d. Polysaccharide
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&FSSIJTLOLITENETUILD
aGUL: 121 eu@Ly Caijey — 1 Gpyb : 30 HLAL M6l
umtd:  GeugHluluied G : 15
| gflwren alewLenw GaTHOBG 15x1=15

1 Aeireu@pd aflemenserflev ereuailemenmergl &mmMleLeLT S LPe0IL aIMISHSH MV s
GOLNG g2

S)2Zn + 0 ,~2Zn0 81) 2ZnS + 30 ;~2Zn0 + 250,

@)MgC0; ~MgO + CO; FF) (1) LoHMILD (&)
2. QUTHSHHI%.
31) BGumyrderd Naz B407 5 Hz20
1) LIg&HID Naz B4O7
@) eTemI(LP Naz B4O7 10H20
) GUITTTEeND  HeNTenITIy - [B4Os (OH)4)?
A B C D A B C D
a) 4 3 2 1 o) 3 1 4 2
@ 3 4 1 2 ) 2 4 1 3

3. sapmI: GGermifledr eumemeus SHMLIGEID o Li@hiflefler emevoriiy Lemey  SpHMed SHlHD
&mrevord: &Genmmiflevtnentd), o L@biflenentd &Mlqald Sifls ereusL et elends elenguieneorL
LDHMIETENS).
31) &M LOHMID SnTevord Srevor(Bo &ifl, GLoGID SHMTETOIONETS &nhBiNE &iflwiner  een&H&LOMELD.
) & OM)| LOHMID SnTevord EIevorBLD &ifl, S 60TM6L SMTETVIONEITE FnOBIDG SFlLimeor XlaT&sL06060.
8) snhm) &1fl SevTed HNTETOTD HeUM)
FF) SaDM)| LOMHMILD &MTevord ETevor(Bo SHeuml.
4. @ewLBlewev Hellomiseiler LB o awienD DIGL6VTHH 61517
9)) Slmenia]F GCFTIOMIBmeT 2 (HeUTHGHaH B)606mM6V.
o) TRIULL GmenHBer ClsmewiL eney
®) HIBWEITEN DIUIETSHM6T 2 (HEUTHEHI MBS
F) SlwaSHGHId o Geunsmisern
5. UeTeu (I eueTeuMMI6n ASISLL A, 6T6voT LOFILemL CQUHMIETOT i6eM6uT6Y iwwievhl 6T8I?
3l) [Co (CN) 6] 3 94) [Co (C204)3 3 @) [Co(H20)¢] *3 FF)[ Co (NH3)6]*3
6. 2A+B —» C+3D er6trm ellemenruilett Cousd aNdullemersd QAsmEH&sLLL (B6eTer LledTeu(mHLD
afleunru&efed (b &6uorLls.

Reactio T.A’.‘,] | B8] Initial rate
number (lﬁln) (min) | (M s')
1 O.1 0.1 X
2 0.2 0.1 2Xx
3 o1 | oz dx
4 0.2 0.2 8|x
a) ellemerGeusd = [ Al? [ B] b) eflénerGeusLd = [A ] [B] 2

¢) eflemenGeusid = [A][B] d) eMemenrGeusid = [A]/2 [B] /2
7. mlewy OS] (pempuied ZnS wmmib PbS sevenen flH050H5 GHewmb@GD STyewiuins
Camouibd Fwenen® CFJHHILBHBEH. RHBG SHTT6EMILD

o)) Znebs urgliusnLwimosv; Pb(CN)2 afpligsuramai.
o1) PbS miengenwl o pmeurd@Emal ZnS sajhdHl Sienenienal 2 (HeuTdh @S sl
@) ZnS w2 HautbGHAmE. PbS samibsl Sienemienal 2 HeiTdh &GS mEH
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#) PbS ebs umdiiuenwmoed Zn(CN)2 efipriLngeurémsi.

8. 02 Bamemas 1oMTWID eflenenuied CFISHHLILIGLD LOeTCITL L Hdletr 66y ?

o) 25,000V =) 20,000V ®) 18,000V w) 27,000V

9. Mn** gqwiesflullett HMHGE HHLULSSHM6T LI
3l) 5.92BM 9) 2.80BM @) 8.95BM FF) 3.90BM

10. QUTHSHHIS.
a)  (TiBrg)* - 19000
b) (Tifg)* - 20000
C) Ti(H20)e - 12500

A B C A B C
a) 2 1 3 b) 3 1 2
c 1 2 3 d) 3 2 1

1. eum_Lrélwid (Siexm) eTemL39 g mol™) bee augeuemiolieml QLbmieTens . BHleb QBHRIS SiemiobgieTer &b

SIB55B5S TN EHSHHMLGIILITETS OFHTeneve) 4.52 A SH& 2_66Ng). SHE0T LT HS
1) 915 kg m™ ay) 2142 kg m™ @) 452 kg m™ rF) 390 kg m™

12. (1p&6L LHMID ET6voTLND 6uems 6XleneuTa@EheslenL Guiwmeor gflwimeor Geumn@® (NEET)

1) eflemeT@GeusLommmiluileneot (LSH6D eUemE&HEEm6DTHE LWIOTLBSHSHELMD, ET600ILMD 6uem&H6eleneiTd: &
LwedTL(B S Suieons).

) (PH6L euemelleneoTuieiTdieny eump &mevld [A,] & OLNHSHE SiewioalSleiemen. Fetor_mb
cuemsalleneoTuleiiaiem eump Smevld [A,] & OLTMISHSH HEDIOWD.

&) 6L euems elemenTuletr Geusid, ellemeotu(® ELNHLSerfledr A&Mlellemetsd FMibHe SenLo6USELEm6.
@revormbd euems eflemevtuietr elemeotGeusld elemenTL(R OLIMIHLS6fledTOSFHEYeMEnTE SMIHE HEWLOW|LD.
F) (Pp&60 euemseilementuieotGeusid, eflemeotL(® LNEBL &6l  Qsmleflemeots SMImHe SHEMLOWLD.
@nevorLnb euems eXlemevtuiledt - elementGeusd elemenLBELNBLS6fleTagMeements FMimHa)
SIEMLDLLINE).

13. sflwrenr aflewLenw CaHIHOSHMH

9l) &MGumenerey Fell (h 2 GeoTHHHIL 6T Beneanibdl SHLILGH LT6D STTUMET60 GHBSI MBS
o) BTfueneiey Fell @Fenih o Ceuns SigmiaL 6l @eenibdl E(HLILIGI LIT6V SHTTLIM6I60
GBSSBS).

®) srjumered Fell @ 2 BuTs SiamaL 6T QeHH (HUUSH BBIFH STTLMEID CHTEHH U
GBSSBS).

F) o wBpd & BresGeo

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

nfelgwumyg Ol flés Gsoplensols Lisiter
FHSHJMD LITENETUWLILD

UGLILY: 121D eu@Liy wWwwsBsiey -2 Gpy> :30 MO _migeir
umtd:  GeugHluluied G : 15

| gflwmenr alewLemw GHTHOBG 15x1=15

1.

Letteu(heussteuBmie 6hd o Geumdd SHMulenwndhsEeds0 LLOBH0 LweTUGSBESI.

8)) dlevouy &) Gevl” ®) sy ) LD

SIPHHMILUBMSIeL 61hFH FnMBml HEUBTEISH

8l. QuemTed @HeuemeTwl FeldGHL L TG LD. &l Mg,Siosareiiigl THCHT FeldbBasl. yGLD.
. [Si0l)" peng FelECal BEaflsd QLILENL QUIYAIHIONIL] DIVBTGLD.

F. QusveroL] ShenidHl DVIOGerm FlelldBsLl.  Sisv6v.

+7 1B DFHE ULF YHFMCabm Bemsoulenenl GUBmIeTEN UHIgeTUIH Heflob

SI.Np. Pu. Am <. U, Fm, Th @. U,Th,Md w. Es,No,Lr

CsCl  syemz  bee augauamlinienanr o enl wigl. Siev@ b igan alafiby Bemd 400 pm  oigmidsEHEE

AL Cuwimer GFHTenev6y

3

&1 400 pm 4. 800 pm 8. 3x100pm . [7j x400pm

eileu(bD FnBDIBM6NS H(HSDISH.

(i) alleweiulp GuTHLH6eMen. OFpley SIFSFLILTEIGI. L owleuendaieneruier afenerGolssddenet
SIPEfHBBS).

(i) Ea= 0 ereolled alemeniGous ommled k - sueigl Gorged elewt A &H&HF FLODTHBESI.

(i) Ea= oo eramid Gung elenanGeus wimled k e Gomsed elewi A HGHF FOWTHMBSH

(iv) In(k)VsT suemguL b e CryGamLma@lb.
(v) In (k) Vs ('Ii'j aueILLID GBIH@&N sTUIaL 6T snigwl @@ GHIGHTLTEL.

o) (i) LEGD o (i) LD (v 8. (i) gD (V) w. () (i) wpmb ()

Fflwimren SnBpIG6eTToueT

FaBoI : Ueoimed 61HSHEMen60 oIl DIHH DINVSHHETND 2 6HL WIG).

SMewIDd : Lemméamen® Slwelwmeaid o L alengaled HensolihHHeaiend GuUBISIBEI.

9. &MU WBDID STyenid @yewih Ffl, Gwebd SMyewIoTeaid FBPBE Flwmer alendbasonELD.
o FaBml BpID STyl @yewihlo Ffl, Geld STyewIoTag FBUIBG Flwmer alendaLos06.
®. BB Ffl SLEIMeL SHTT6NID Heaum

. FaBMl LOBMID STl GGl Heuml

Letteu(heussteuimieln Gamhebsiul L Gaimiseier Siflevdhseaienouler SiglitienL ulleomer gifluleom

alfleng

). FCH2COOH > CH3COOH>BrCH2COOH > CICH,COOH

&4 FCH2COOH > CICH2COOH>BrCH,COOH>CH3COOH

®. CH3COOH> CICH2COOH> FCH2COOH > Br-CH,COOH

#. CICH2.COOH> CH3COOH> BrCH2 COOH> CH,COOH
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bl Crmeueider g oIy HNOs;/ H,SO, 2 Leir - 80-1000C 60 elewerflbg O@mBHEHLID
allenaTQUT(H6T 6157

o 1.4 - oL eopl Gy Gueitdesr o 2,46 - Lewy emplCrm Ouieirdest

®. 1,2 - v ewpLCym Gueides . 1,3 - e ewpLGym Oueid et

N2 cwpevdamper Llenemrli SiBmeL

o). 220 cal mol! &4. 223 cal mol? ®.225 cal mol? . 230 cal mol-!
QUTHSHHIS
aflos - | aflens - Il
1.K - term a) K[ PtCl3(C2H4)]
2. Bxuierd o (1 (Zeise’s salt ) b) [Pt (NH3)4] [PtCl4]
3. wrhgmed uFeng (Mangnus’s green ) | c. [(Pphs) Rh(l]
4. elevdleiigar alenanGeus LOTHHS d. Ambidendate ligand
(Willikinson’s catalyst)
1 2 3 4 1 2 3 4
&. a d b C S b d C
®. d C b a i d b C
QUGN GMLDWITET HTILD 61517
9. HNO> & HSO4” ®. NHz" w. ClI°
Ecen Cui@m etafled AG FHUIL] ----mmmememee
oI Criem . THTSB ®. BB . CuBampPiw e1gia|ilsdemev
AL Hlenev GFJLD o (HeUTHeL OFTeTmd SPHEWILAIBNI60 616w alleNdbd ale0MNE) ---------------
o). alewaiBeus HFH S 2 WiTSHS
®. ueoLSHSHTer allenerGougsommmsl . DD6UDIMOTHHID
SHemenTCHT:Men eTelUTHI DIMPSHBLILIBHMBG ===
9. GHeHBsmer 9. 9IMLGETOILISI 63T ®. alevmi@ eOLMTEF F. SeuBnled eHIOe0m60V.

6P QREIWI DjWleld HeTeNOWBM 9L FTOIP6HL H6lT

9. N - CaB&EFTOL HenBe0LmIbLogHe0 DIbGomaiwbd &GsTeny®H
o1, Gamguid eumenged &FevGLIL

®. QueirLm eflgflenL 60 eroiQUIGTL

F. @eneU DIHEITSHHID
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UGLILY: 121D eu@Liy wwsBsiey -3 oy :30 MO _Migeir
umtd:  GeugHluluied G : 15
I sflwrer alewLenw CaMHOH® 15x1=15

1. &6 |6 2 siTenediouBenms &0 |l -60 2 sieneieuBmILel GUTHSHHSH HSHbHD
alewLulewerrs G fle CFuis.

&6old | ool I
A swenen(® GFwed(Lpenm i) WassHamwienwne  Ge

B. miong 1055560 GFwed (Lpsmm ii) ZnS srgma SHILJLIHH0

C.0a3e0TB @BSHSHH60 iii) Al 19f505bHHHe0

D. 4evSSMUIeNLDWITESHBH60 iv) Au 1915050 &5 560

v) Ni mé asmuienowing@ s0
A B C D A B C D
o) i ii iii iv &) il iv \4 i

®) iv ii il I /F) ii il I \%
2.  Gunflssiblevd 6 HOGVONELD. ETEE0TEUTlED SIHEUT CLPEVEE M)
1) @LieLwT&d] siemLbd seotenowjemLwl H sSieoflenwisesmevor(Bemens)
) LGOML L MemetTSHSTEU6VVE]
8) UG Lnen)L 601 emevonbd BiT cLpevésn 1leneiTSSHEDE
) B cpevdanedmhg OH™ Siwesfllemw emmiéasTeso®, LEIM L TeneTSsHADE!.
3.  fetreugneoreummieT eueSlemiowwinet SysdleGeuthnsl erg)?
él) Clz 8“5) F» @) Br; FF) 12
4.  Bpsbsetui Semevoieyd Galflomisefle) siBN& 2 Bensddler &erfinGermm erevor L, FHWIDmELD.
2K [ Fe(CN)s &) [Fe(CN)s (NHs)s] @) [Fe(CO)s]  #)Both (b) and (c)
5. 8@ (136 euenseleneriLinerg 60 BLSLhisefled 75% Hlemmey aunHDg). SiGseleneor,
SIBFHLBBEmetTH6 6L 50% [Hlemme) G & EH6mEULLITEITEHTEVLD
1) 20 min ) 30 min &) 35 min FF) 75 min
6. SumrGL el ——————————— 6T60T EUEDTUIMISSLILBHDE
Si) 1 6TELSHLIMEVTITED SO E1&60EVLILIBLD Ll6OTETL L LD
&) 1 GuomeD 6T6V&LTTEDTIED Lo E1F6VELLILI(BLD LlEOTEmITL L LD
®) @@ Gmed aunhener elBelsHs CHemeulILBID LETENITL L LD
IF) 6.22X10° 6TeVSLIMEUTTED Siohg 1&606VLILIBLD LOGITEO)TL L LD
7. Jettaurpeuesteummie 618 eueSlemio lés Sibleud?

31) 2 - ewpLGomYeormed a) 4 — &GemnGrm Sevrmed
8) 4 - emwmL G Seored rF) 3 — embLGrmIeoTmed
8. apegemamn® 2 L e grflemevonu sibeir eflemeotfibg &emLLiLg)
1) HNTUM&HESH Siblevld ) 24CrmGollg Sudevld &) edl &b Fr) SLGLmedr
9.  fetreupeuaTEUDMIET 6TThS EXlemetTéanTevof] emmL G eLeiTEenenr SievfleSevmma MHMIEME?
31) Sn/HCI &) ZnHg/NaOH &) Zn/NH .Cl ) @emeuiemeTSHEID
10. mewr— WiNG QI aTGSHSSHTLD 68
S1)LImed &) ewufleon 8) Fnhi&ed ) Gammby

1. 2 _Geuns GemmuweTen &enmUN(h STetorlL(BLD Lig.&LD
a) NaCl &) FeO @) ZnO ) KCl
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sapOI &&Crmerdleor Biissemased euevEha SlBLLSSDemeut OLUDMIeTENS). SeoTey, Snfiseney
el Crm &Gemnflé sifevsdHer (peitevflemevulsd Bamb LGSSL GLNg g SLEhaoins
wrméEngl. (AlIMS)
&myevond: &5@rmev BImhLGS56e960 Fwomn Serelsd GepsGsmev HMID SLT&GLmen
2 _(meundledtment. Ese0r HMTevoions spmdlufledr Gmluled MMM 2 _6vorMEME).
31)8n. DM LOHMID SHMTevord SaeoorBd &ifl, GLoeYId &MT6oID, SnMHMINHE&Te0T FIILIT6T 6XleT&HSLOMGLD.
) Sn DM LOMID SMTevord mevor (BD &ifl, S 60TM6D SMT6TOID, FnOUiD&TEoT Sflwineor eflensaLoe06V.
®) snpm) &ifl SHevTTed SHNTETOID SHEUM). F) Sam) LOHMID SMTevolD ETetor(Bd SHeUMm).
WedTeu(plo Sp&SnGeotmm HlemesEmneiT, OMbGeTMLI(BS6fle0T AL IeUTeT SH&FGetTD Hlewev Wing)?
N4 )2 @5 m3
aiFls Hlemevlild He0TemID 2 _6ML LIS 6187
1) Fe* &) Fe* 8) Mn** FF) a &C
X ophmib Y SpSISisniesen bee Ligs Siemloliflemenr2 (Heuns@&EeTnent . HeTss&ITSHSle0n cpemevuied X
SITNIHSHEBLD SFHE0T MILISS L Y Sigzmied L 1b LMIFImg). HECETISSH0T eumLILT{® 6reoT60T ?
o) XY ) XY, @) XY, ) XX,
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PTA Public Model Question Papers
SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII MODELQ -1 MARKS:70
SUB :CHEMISTRY TIME:2.30Hrs
I. Choose the correct answer 15x1=15
1. The basic structural unit of silicates is
a) [Si03]? b) [Si04]% c) [SiO] d) [SiO04]*
2. Elements like silicon and Germanium to be used as a semiconductor is purified by
a) heating under vaccum  b) Van - Arkel method c) Zone refining  d) Electrolysis
3. The oxidizing power of oxo acids follows the order
a) HOX > HX02>HX03>HX04 b) HOX4 > HX03>HX02>HXO0
c) HX03>HX04> HX02>HOX d) HOX > HX04>HXO03>HXO0>
4. Inthe dichromate anion (Cr207)%
a) 4 Cr - O bonds are equivalent b) 6 Cr - O bonds are equivalent
c) All Cr - O bonds are equivalent d) All Cr - O bonds are non-equivalent

5. According spectrochemical series which of the following ligand produces strongest field and cause
maximum splitting?
a)F b) CO c) H,0 d) CI-

6. For a first order reaction, the rate constant is 6.909 min-! the time taken for 75% conversion in minutes
is

o (g2 baiJlegz o (Ja;)  a)ws(3)

7. The packing efficiency of a face centered cubic structure is

a) 74 % b) 68 % €) 52.38% d) 48 %
8. while charging the lead storage battery
a) PbSO. on anode is reduced to Pb b) PbSO4 on anode is oxidized to PbSO;
¢) PbSO40n cathode is reduced to Pb d) PbSO4o0n cathode is oxidized to Pb
9. Which one of the following correctly matched?
a) Emulsion - Paint
b) Liquid Aerosol - Milk
c) Foam - Pumice stone
d) Gel - Butter
10. The solubility product of lead iodide is 3.2x108, its solubility will be
a)1.8x105M b) 1.6 x 10> M c)2x103M d)4x10+M

11. The general order of reactivity of carbonyl compounds towards nucleophilic addition reaction is
a)HCHO > RCHO>C¢HsCHO>R2CO>(CsHs)2
b) HCHO > CH3CHO>CsH5CHO>CH3COCH3>CsHs COCcH5s
¢) CeHs COC¢Hs > CH3COCH3>CsHsCHO>CH3CHO>HCHO
d) HCHO > CH3COCH3>CsHsCOCsH5>CH3CHO>CsHs CHO
12. Assertion : Tertiary alcohols undergo dehydration more readily than primary alcohol.

Reason : Tertiary alcohols are less acidic than primary alcohol.
a) Both assertion and reason are true and reason is the correct explanation of assertion
b) Both assertion and reason are true but reason is not the correct explanation of assertion
c) Assertion is true but reason is false d) Both assertion and reason are false
13. Identify X in the following sequence of reaction.

NH3 BTz,KOH
C,H,0Cl — C;HyON—— CH3CH,CH,NH,
(X)
a) (CH,),CHCOCI b) CH3CH,CH(OH)CH,Cl €) CHiCH,CH,COClI  d) CICH,CH, CH,CHO
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14. The major product of the reaction between m - dinitrobenzene with (NH4)2S« is

NH
. ~=F SNO Iy !
HON e NO, <) v )

B T b)

15. The secondary structure of a protein refers

a) fixed configuration of the polypeptide backbone b) hydrophobic interaction
c) sequence of o - aminoacids d) a - helical backbone
II. Answer any six of the following (Q.No. 24 is compulsory) 6x2=12

16. What is the role of depressing agent in froath floatation process?

17. Why fluorine is more reactive than other halogens?

18. Define solubility product of a compound.

19. Peptising agent is added to convert precipitate into colloidal solution. Illustrate with an example.

20. A conductivity cell has two platinum electrodes separated by a distance 1.5 cm and the cross sectional
area of each electrode is 4.5sq cm. Using this cell, the resistance of 0.5N electrolytic solution was
measured 15Q. Find the specific conductance of the solution.

21. Is it possible to oxidise t - butyl alcohol using acidified dichromate to form a carbonyl compound?

22. How will you prepare Malachite green dye from benzaldehyde?

23. Arrange the following.
(i) In decreasing order of the pKy values : C;HsNH3z, CsHsN(CH3)2,(C2Hs)>.NH, CHsNH,
(ii) Increasing order of basic strength : CsHsNH3, CsHsN(CH3)2,(C2Hs)2NH, CH3NH-

24. A hydride of 2nd period alkali metal (X) on reaction with compound of Boron (Y) to give a reducing
agent (Z). Identify X, Y and Z.

III.Answer any six of the following. (Q.No . 33 is compulsory) 6x3=18
25. Show that sulphuric acid is a dehydrating agent, by giving suitable examples.
26. What are interstitial compounds? How they differ from the properties of its pure metals?
27. What is crystal field stabilization energy?
28. Differentiate crystalline solids and amorphous solids.
29. What is the role of adsorption in the heterogeneous catalysis?
30. State and derive Ostwald dilution law.
31. Name of vitamins whose deficiency cause
(i) Pellagra (ii) Beri - Beri (iii) Night blindness
32. What are bio degradable polymers? Give two examples.
33. Explain the mechanism of cannizaro reaction

IV. Answer the following questions: - 5x5=25
34. a) Mention the main assumption of valence bond theory of coordination compounds.
(OR)
b) i) Justify the position of Lanthanoids and Actinoids in the periodic table.
ii) What is the hybridisation in XeOF,? Give its structure.
35. a) i) Which is known as Inorganic benzene? How it is prepared?
ii) What is the role of graphite rods in the electro metallurgy of Aluminium?
OR
b) i) Write any three differences between orde(r an)d molecularity.
ii) What are the two types of buffer solution? Give example for each type.
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36. a) i) What are the conventions used in Galvanic cell notation.
ii) What is intercalation?
(OR)
b) i) Define Emulsification and Deemulsification.
ii) Write Debye - Huckel and Onsager equation for a uni-univalent electrolyte

37.a) How the following conversions are effected?
i) Nitro benzene — N - phenyl hydroxyl amine
ii) Propanamide — Propan - 1 - amine
iii) Aniline — p - nitroaniline
(OR)
b) i) What are enzymes? Explain the mechanism of enzyme action.
ii) What happens when fructose is partially reduced with sodium amalgam and water?
38.a) i) Atoms X and Y form BCC crystalline structure. Atom X is present at the corners of the cube
and Y is at the centre of the cube. What is the formula of the compound?
ii)A carbonyl compound A having molecular formula CsH100 forms crystalline precipitate
with sodium bisulphate and gives positive lodoform test. A does not reduce fehlings solution.
Identify ‘A’
(OR)
b) A ether (A) CsH100 when heated with excess of hot concentrated HI, produced two alkyl
halides, which on hydrolysis forms compound (B) and (C). Oxidation of (B) gives an acid (D)
where as oxidation of (C) gives ketone (E). Identify A, B, C,D and E and write the chemical

equation.

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII MODEL Q -2 MARKS:70
SUB :CHEMISTRY TIME:2.30Hrs
I. Choose the correct answer 15x1=15
1. Which statement is incorrect?
a) [Ni(CO)4] - Tetrahedral, Paramagnetic b) [Ni(CN)4]2 - Square planar, diamagnetic
c) [Ni(CO)4] - Tetrahedral, diamagnetic d) [Ni(Cl)4]% - Tetrahedral, paramagnetic
2. The basicity of hypophosphorus acid is
a)l b) 2 c) 3 d) 4

3. Assertion : Aqueous solution of potash Alum is acidic.
Reason : Aluminium sulphate undergo hydrolysis.
a) Both assertion and reason are true and reason is the correct explanation of assertion
b) Both assertion and reason are true but reason is not the correct explanation of assertion

c) Assertion is true but reason is false d) Both assertion and reason are false

4. The most common oxidation state of Actinoids is

a) +2 b) +3 c) +4 d) +6
5. Wolframite ore is separated from tinstone by the process of

a) Smelting b) Calcination c) Roasting d) Electromagnetic separation
6. Which of the following is incorrect?

a) Enzymes can be inhibited (poisoned) b)Catalytic activity of enzymes is decreased by

coenzymes.

c) Enzyme catalysis is highly specific in nature
d) The rate of enzyme catalysed reactions varies with the pH of the system
7. The number of electrons that have a total charge of 965 colombs is

a) 6.022 x 1025 b) 6.022x 1026 ) 6.022 x 1022 d) 6.022 x 1021
8. In FCC unit cell of the edge length is S\Epm. The radius of the metal atom is A0
a) 0.04 b) 0.02 c) 8x102 d) 8

72

9. The rate constant of a reaction is 2.3 x 10-2 lit mol-1s-1. The order of the reaction is

a) Zero order b) First order c) Second order d) Third order
10. In which of the following cases, the sparingly soluble salt solution is unsaturated?
a) lonic product > solubility product (Ksp) b) Ionic product < solubility product (Ksp)
¢) lonic product = solubility product (Ksp) d) Both (a) and (b)

11. Which of the following not correctly matched

Which ot the Fallowing not correctly matched
CH ('Iu,]
n

l CH, - ¢
(I/

a) Ncecoprene

<)
b) Nyvlon - 6 l NH - (CHaya Nlu'n»‘('n;,,-é‘]“

L8]

¢) Tervienc _{ OCH, - CFH ., - O - ( _<(:}_(“ s
- - n
\
Zol O
) Poly acrvionitrile I CH, = C IL_l._
~ - n

(lf'\'

12. Which of the following statement is incorrect?
a) Nucleoside + Phosphate — Nucleotide b) Nucleoside + Base — Nucleotide

¢) Sugar + Base — Nucleoside d) n Nucleotide — Polynucleotide
13. The product ‘D’ of the reaction

KCN HY/H,0 NH3; A
CH;Cl—A—>B—C-> D

a) CH3CH2NH2 b) CH3CN C) HCONHz d) CH3CONH2

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

14. The IUPAC name of
a) But - 3 - enoic acid b) But-1 - en - 4 oic acid
c)But-2-en-1 - oicacid d) But-3 -en -1 - oic acid
15. Which of the following is the strongest acid?
a) 2 - nitrophenolb) 4 - chlorophenol  ¢) 4 - nitrophenol d) 3 - nitrophenol

IL.Answer any six of the following (Q.No .24 is compulsory) 6x2=12
16. [Fe(CN)¢]* and [Fe(H20)¢]2* are of different colours in dilute solutions. Why?

17. Which is more basic among Lu(OH)3; and La(OH)3 ? Why?

18. How will you prepare chlorine in the laboratory?

19. What are the characteristics of adsorption?

20. What is Buffer index (3)?

21. Write the structure of a - D(+) Glucopyranose.

22. Write the chemical equation for oxidation of ethylene glycol with periodic acid.
23. How the transquilizers work in body?

24. The reaction Zn(s) + Co?* = Co(S) + Zn2* occurs in a cell. Compute the standard emf of the cell. Given

that B9 7.2+ = +0.76V, and E(, o2+ =+0.28V
II1.Answer any six of the following. (Q.No . 33 is compulsory) 6x3=18
25. Explain the following terms with suitable example. a) Gangue b) Slag

26. Write note on Zeolites.

27. Mention the uses of Helium and Argon.

28. Calculate the percentage efficiency of packing in body centered cubic system.
29. What are electrochemical series? How is it useful to predict corrosion?

t - butylchloride Cl, JFeCl; _ HBr
AIC] > A B A—> C. Complete the above reaction and Find A,B,C.
3

31. An organic compound (A) on reduction gives compound (B). (B) on treatment with CHCl3 and alcoholic
KOH gives (C). (C) on catalytic reduction gives N - methyl aniline. Identify A, B, C and write its equation.
32. i) How will you prepare benzoic acid from toluene?

ii) Write two tests to identify carboxylic acid.
33. Derive Arhenius equation to calculate activation energy from the rate constant k; and k; at temperature T;

and T, respectively.

30. Anisole

IV. Answer the following questions: - 5x5=25
34.a) i) Mention the characteristics of interhalogen compounds.

ii) out of Coke and CO, which is the better reducing agent for the reduction of Zn0? Why?
(OR)
b) Describe the preparation of potassium dichromate.
35. a) i) AlClzis more stable where as TICl3 is highly unstable. Why?
ii) Explain the bonding nature in metal carbonyls..
(OR)
b) i) what is Nano catalysis? Give example.
ii) Explain ‘f’ centers with a neat diagram.
36.a) i) Derive integrated rate law for a first order reaction.
ii) Outline the classification of point defects.
(OR)
b) i) Derive the relationship between pH and pOH.
ii) How solubility product is determined from molar solubility?
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37.a) i) Write note on Swern oxidation and Schotten - Baumann reaction.
ii) How will you prepare acetic anhydride and acetyle chloride from CH3COOH?
(OR)
b) i) Mention the biological importance of Lipids.
ii) Write a note on TFM value.

38.a) i) The rate of formation of dimer in a second order reaction is 7.5 x 10-3 mol L-1S-1 at 0.05 mol
L-lmonomer concentration. Calculate the rate constant.
ii) Complete the reaction

(X) CH,-CH= C —CH, (i)O, (y) CH,COCH,M_ —-H
CH, (i)Zn/H,0O H,0
b) An organic compound C3H4 (A) on hydration with Hg2+ / H2S40 gives compound (B) which
gives positive lodoform test. Compound (B) heated with NH2 - NH2 / C2Hs0Na to give
hydrocarbon (C). (B) also treated with HCHO in the presence of dil NaOH gives compound (D).
Identify A, B, C and D. Write the chemical reactions involved.
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SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII MODEL Q -3 MARKS:70
SUB :CHEMISTRY TIME:2.30Hrs
I. Choose the correct answer 15x1=15
1. Chromyl chloride when dissolved in NaOH solution gives yellow solution. The yellow solution contains.
a) Cr207% b) Cr04%- c) CrOs d) Cr203
2. The arrangement of crystallographic axes and angles respectively in hexagonal crystal systems is
a)azbzca=L4=y=90 b) a=b=zca=p8=y=90°
a=+ca=L=y=120° d) a=b=ca=p=y=90°
3. Penicillin is an example of
a) Analgesics b) Antibiotic c) Anaesthetic d) Antacid
4. Which kind of isomerism is possible for a complex [Co(NH3)4 Br2]Cl?
a) geometrical and Ionisation b) geometrical and Optical
c) Optical and lonisation d) Geometrical only

5. Assertion : A small piece of Zinc dissolved in dilute nitric acid but hydrogen gas is not evolved.
Reason : HNOs is an oxidising agent and this oxidizes hydrogen
a) Bothe Assertion and Reason is true. Reason is a correct explanation for Assertion
b) Both Assertion and Reason is true. Reason is not correct explanation for the assertion
c) Assertion is correct but Reason is wrong
d) Both assertion and Reason are wrong.

6. The half life period of a first order reaction is 5 minutes, the time required for 99.9% completion is
nearly equal to

a) 99.9 minutes b) 49.95 minutes c) 50 minutes d) 10 minutes
7. Glucose is an aldose. Which one of the following reactions is not expected with glucose?
a) It does nor form oxime b) It does not react with Grignard reagent
c) It does not form osazones d) It does not reduce tollens reagent
8. (CH3);C-CH(OH)CH; Con—HZSM) X (Major product). X—is
a) (CH3)3C CH = CH> b) (CH3)2C = C(CH3):
c) CHz = C(CH3)CH2 CH2 CH3 d) CHz = C (CH3) CH2 CH2-CH3

9. For Freundlich isotherm a graph of log % is plotted against log p. The slope of the line and its
y -axis intercept respectively corresponds to
1 1 1 1
a)z,k b) Iog;,k c);,logk d) Iog;,logk

10. Two molecules of propannitrile in the presence of Na/Ether to form 3-imino-2- methylpentanenitrile.
This reaction is known as

a) Baltz - schiemann reaction b) Thorpe nitrile condensation

c) Gomberg reaction d) Schotten-Baumann reaction
11. Ortho boric acid on dehydration at 373K produces mainly

a) metaboric acid b) boric anhydride c¢) Boron metal and Oxygen  d) tetra boric acid
12. Which one of the following pairs is not correctly matched?

Reducing agent Name of the reaction

a) Zn/Hg/ConHcl Clemension reduction

b) LiAlH, Wolf-Kishner’s reduction

c) Pd/BaSO, Rosenmund’s reduction

d) SnCl,/ ConHcl Stephen’s reduction
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13. Which of ht efollowing salts do not undergo salt hydrolysis?
a) Sodium acetate b) Ammonium acetate c¢) Ammonium chloride d) Sodium
nitrate

14. Which of the following statement is not correct with respect to electrolytion conductance?
a) Conductivity increases with the decrease in Viscosity
b) Conductivity increases with increase in temperature
c) Molar conductance of a solution decreases with increase in dilution
d) Conductance decrease with increase in temperature.

15. Which of the following reduction is not thermodynamically feasible?

a) Cry,05 + 2Al =Al,03+2Cr b) Al,O; +2Cr — Cr,0;5 +2Al
c) 3TiOs; + 4Al = 2Al,05+3Ti d) Cr,03+2Mn —Mn,03+2Cr
Il.Answer any six of the following (Q.No. 24 is compulsory) 6x2=12

16. How will you convert Boric acid to boron nitride?
17. How are the following conversions effected?
i) Hex-3-yne — hexan-3-one
ii)benzaldehyde — 2 - hydroxyl phenyl acetic acid.
18. Mention the factors that affect the rate of the reaction.
19. What are harmones? Give examples
20. Describe the underlying principle of froth floatation process.
21. What are active centers?
22. How nylon - 6 is prepared?
23. What is Bragg’s equation?
24. Complete the reaction P4+ NaOH + H,0 Type equation here.

III.Answer any six of the following. (Q.No . 33 is compulsory) 6x3=18
25. Write the structure and basicity of following oxy acids.

i) hypo phosphoric acid ii) ortho phosphoric acid
(iii) pyro phosphoric acid
26. What is lanthanoide contraction? Mention its consequences.
27. What will be the correct order for the wave lengths of absorption in the visible region and
explain for the following.
[Ni(NO2)e]*, [Ni(NHs)e]*, [Ni(H20)e] 2*
28. What is radius ratio in ionic solid? Tabulate the relation between radius ratio and structural
arrangement in ionic solids.
29. Write ntoe on standard hydrogen electrode (SHE).
30. Calcualte the pH of 107 M HCl.
31. Write short note on
i) Benedict’s solution test ii) Knoevenagal reaction
32. Account the following
i) Aniline does nto undergo Friedal - crafts reaction
ii) Ethylamine is soluble in water whereas aniline is not
iii) Amines are more basic than amides.
33. An organic compound (A) - C3HsOs used as a sweetening agent, which on oxidation with
Fenton's reagent gives a mixture of compounds B and C. Identify A,B & C. Write Possible
reactions.
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IV. Answer the following questions: - 5x5=25

34. a) (i) Write the IUPAC Name for the compound Na,[Ni(EDTA) ]
(ii) Write note on the structure of diborane.
(OR)
b) (i) What are transition elements? Write two characteristics of the transition elements?
(ii) Describe the method for refining of Nickel.
35. a) (i) Why fluorine is more reactive than other halogens?

(ii) What is linkage isomerism? Explain with example.
(OR)
b)(i) Derive integrated rate law for the first order reaction A - products.
(ii) Differentiate rate of reaction and rate consant of the reaction..
36. a) i) What are the general characteristics of catalyst?
ii) What is the significance of Brownian movement?
(OR)

b) i) State and derive Ostwald dilution law.

ii) What are conjugate acid - base pairs? Give example.

37. a) Write short ntoes on
i) Riemer - Tiemann reaction (ii) dehydration of glycerol
(OR)
b) i) Write a short note on peptide bond.
ii) Write the mode of action and uses of antacids. Gvie an example.
38. a) i) Give reasons : ICI is more reactive than I,

.. . . 0 _ 0 _
ii) Reduction potential of two metals M; and M; are EM12+/M1 = -2.3V,and EM22+/M2 =0.2V.
Predict which one is better for coating the surface of iron. Given : Egeer/Fe =-0.44V.
(OR)

b) An organic compound (A) - C;H7NO On treatment with Br, and KOH gives an amine (B), which
gives carbylamine test. (B) upon diazotization to give(C). (C) on coupling with p. creson to give
compound (D). Identify A,B,C and D with necessary reaction.
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SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII MODEL Q -4 MARKS:70
SUB :CHEMISTRY TIME:2.30Hrs
I. Choose the correct answer 15x1=15
1. The correct order of thermal stability of hydrogen halides is
a) HI>HBr>HCI>HF b) HF>HCI>HBr>HI
¢) HCI>HF>HBr>HI d) HI>HCI>HF>HBr
2. Co - ordination number of Ni in [Ni(C204)3]* - is
a)s b) 6 c 4 d 2
3. The correct IUPAC— name of the compound,

C'His
'
H\C-CH-CH-CH-CHz-OH
i ¥
L | Chis

a) 4 - Chloro-2,3-di methylpentan-1-ol

b) 2,3 - di methyl-4-chloropentan-1-ol

c) 2,3,4 - tri methyl -4-chlorobutan-1-ol

d) 4-chloro-2,3,4 - tri methyl pentan-1-ol
4. During the decomposition of H,0, (2H,0, —2H,0+0,) 48g of 0, is formed per Minute at particular

instant. The rate of formation of water at this instant in mol min- is

a) 1 b) 2 ©)3 d) 4
5. Faradays Constant is defined as

a) charge carried by one electron

b) Charge carried by 6.22 x 101° electrons

c) Charge required to deposit one mole of substance

d) Charge carried by one mole of electrons.

6. The radiusof Na* ion is 95pm and CI” ion 181 pm. The co-ordination number of Na+ is

a)4 b) 6 c)8 d)3
7. Nef carbonyl synthesis given by
CHy
a) Ce¢HsCHO b) CH,-¢-NOs C) CsHsCH2NO; dAll of these
CHas

8. Which of the following ions of salt is white in colour?

a) Cdz+ b) Cuz+ c) Co3+ d) vs+

9. Which one of the following is negatively charged colloid?
a) arsenic sulphide b) Ferric hydroxide c) Haemoglobin d) Basic
dyes

10. Assertion : Paracetamol and aspirin are both antipyretics.
Reason : Both paracetamol and aspirin are controlled and reversible loss of concionsness
by affecting central nervous system.
a) Both assertion and reason are true and Reason is correct explanation for Assertion
b) Both assertion and reason are true and reason is not correct explanation for Assertion

C) Assertion is true but reason is flase. d) Both Assertion and reason are false.
11. Thermodymanically the most stable allotropic form of carbon is

a) Diamond b) Fullerenes c) graphite d) Nano tubes
12. Which one given below is a non reducing sugar?

a) glucose b) sucrose c) maltose d) lactose
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13.Which one of the following is incorrectly matched?

a) Tollen’s Reagent - AgNO; + NH.OH

b) Fehlings solution - CuSO4+ Rochelle salt

c) Benedict’s solution - CuSO4+ Sodium citrate + NaOH
d) Baeyer’s Reagent - con HCI + anhydrous ZnCl;

14. Sulphide ores of metals are usually concentrated by froath floatation process. Which one of
the following sulphide ore offers an exception and is concentrated by chemical leaching.

a) Argentite b) galena c) Copper pyrites d) Sphalerite
15. The relationship between the solubility product (Ksp) and molar solubility (S) for Agz(CrO4) is-------
a) Ksp=S3 b) Ksp = S2 c) Ksp =483 d) Ksp = 3S2
II.Answer any six of the following (Q.No .24 is compulsory) 6x2=12

16. Nitrogen does not form any penta halides like phosphorus, why?

17. Why transition elements shows variable Oxidation state?

18. Give one test to differentiate [Co(NH3)sCl]SO4 and [CoCNH3)sS04]Cl

19. What is common ion effect? Give an example

20. Is it possible to store copper sulphate in an iron vessel for a long time?

o

Given E° =0.34V and & e, -0.44V

cu?*/c,
21. Calculate the half- life period of zero order reaction.
22. Give four uses of diethyl ether.

23. Write the Zwitter ion structure of alanine.

24. What are food preservatives?

IIl.Answer any six of the following. (Q.No . 33 is compulsory) 6x3 =18

25. Defne the following terms
(i) Roasting (ii) Calcination

26. Write a note on Fisher Tropsch synthesis

27.[Ti(H20)¢]3* - is coloured while [Sc(H20)¢]3* - is colourless Explain.

28. Explain Frenkel defect.

29. What do you mean by Helmholtz electrical double layer?

30. Explain the rate determining step with an example.

31. How will you prepare 2 - methyl hexan -2-ol form grignard reagent?

32. Write note on Etard reaction.

33. An Organic compound (A) - CNCI react with methyl magnesium Bromide to give compound
B - (C2H3N), B- upon catalytic reduction to give compound C - (C2H7N) C - gives carbylamine test.
Identify compound. A,B and C and write the reactions.

IV. Answer the following questions: - 5x5=25

34.a) Comparew lanthanoids and Actionoids.
(OR)
b) i) Mention any two uses of Zinc
ii ) What is the reaction of Ammonia with Iron and copper salts?
35. a) i) What are inert and labile complexes?
ii) How is potash Alum prepared?
(OR)
b) i) Differentiate physisorption and chemisorptions.
ii) Give two examples for enzyme catalysis.
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36. a) i) Define molar conductance and specific conductance How they are related?
ii) What is the role of salt bridge in Galvanic cell?
(OR)
b) i) What are the characteristics of lonic solids?
ii) Write ntoe on Lewis concepts of Acids and Bases.
37.a) i) Write the mechanism of acid catalysed dehydration of ethanol to give ethane.
ii) What will be the product (X and A ) for the following reaction?

. CH;MgBr 160
— R il
Acetyl chloride o' X —xco A

(OR)
b) i) What is the difference between fibrous protein and globular protein?
ii) Define the term therapeutic index. How is it related to the safetyof the drug?
38. a) i) Identity A,B and C

F1C> <1

SOCL, AL NHy g LAH, o

ii) What happens when acetoneoxime on oxidation with triflouroperoxy acetic acid?
(OR)
b) i) Calculate A°CH3;COOH using appropriate molar conductance of the electrolytes listed below at
infinite dilution at 25°C

Electrolyte NaCl | HC] CH3COONa
A° (S cmZmolt) | 126.5 | 426.2 | 91.0

ii) An Organic Compound (A) - C2H4O reduces Tollen’s and fehling’s solution. A - react with
methanol and HCl to give compound (B) -C4H1002 — A - on reaction with Methanal in the
presence of dilute NaOH to give compound (C) - C3HeO- — Identify Compounds A,B and C with
necessary reactions.
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SHRI VIDHYABHARATHI MAT.HR.SEC SCHOOL

SAKKARAMPALAYAM
CLASS: XII MODELQ-5 MARKS:70
SUB :CHEMISTRY TIME:2.30Hrs
I. Choose the correct answer 15x1=15
1. In the given equation
CeHsOH ':12(;24 N [x] (i)Njici);-'HIUSion >[Y] is

Major Product

LR

2. In which of the following reactions new carbon - carbon bond is not formed?
a) Kolbe’s reaction b) Wolf kishner reduction
c) Aldol condensation d) Friedel craft reaction

3. Which one of the following compound is a strong base?

~ s ™~ g - S
‘n [l, T 3 '

- 1y
T e T .
C 1, N, L8 L L"

4. Assertion : Thymine pairs with Adenine wheareas Cytosine pairs with Guanine in DNA molecule.
Reason : The hydrogen bonding between bases of two strands is highly specific.

a) Both assertion and reason are true and Reason is correct explanation of Assertion
b) Both assertion and reason are true and reason is not correct explanation for Assertion

c) Assertion is true but reason is false. d) Both Assertion and reason are false.
5. Which one fo the followign is a bio-degradable polymer?
a) PGA b)Nylon - 6 c)PVC d) HDPE

6. The rate constant of a reaction at temperature 200K is 10 times less than the rate constant at 400K.
What is the activation energy of the reaction? (R = gas constant)

a)1842.4 R b) 921.2 R c) 460.6 R d)230.3 R
7. Which of the folloiwng is true for acidic solutions?

a)[H:0]* >[0H]  b)[H:0+]<[OH] c) )[Hs0+]=[OH-] d)[H:0+] < [OH]
8. The blue colour of the sky in nature is due to -------------------

a) Electrophoresis of sol particles b) Brownian movement

c) Tyndall effect d)Deemulsification
9. The crystal with a metal deficiency defect is

a) NaCl b)KCl ¢)ZnO d)FeO
10. Which of the following is Secondary Cell?

a) Laclanche cell b)Lithium ion battery

c) Mercury button cell d) both (a) and (c)

11.For the four successive transition elements (Cr, Mn, Fe & Co) the stability of +2 oxidation state will be
there in which of the following order.

a)Fe>Mn>Co>Cr b) Co>Mn>Fe>Cr c)Cr>Mn>Co>Fe d)Mn>Fe>Cr>Co
12. Which of the followign paramagnetic in nature?
a)[Zn(NHs)4]>* b) [CO(NH3)e]3* c) [Ni(Hz0)e]* d) [Ni(CN)4]>
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13. Which of the following statement about H3BO; is not correct?
a) It is a strong tribasic acid b) It is rpepared by acidifying an aqueous solution fo borax.
c) Itis layer strucutre in which planer BO3 untis are joined by hydrogen bonds.
d) It does not act as proton donor but acts as a Lewis acid by accepting hydroxyl ion.
14. Which of the following is caro’s acid?
a)stzog b) H2S,07 C) H2SO0s d) H2S03
15. Which method of purification represented by the equation?
Ti (impure) + 21, —=%* 5 Til, —%* 5 Ti (Pure) + 21,

a) Cupellation b) Zone refining c) Van - Arkel method d) Mond’s process.

II.Answer any six of the following (Q.No. 24 is compulsory) 6x2=12
16. What is water gas equilibrium?
17. Ozone (03) act as a powerful oxidizing agent why?
18. Complete the following reactions.
i) 2Mn02+4KOH+0, —
1) Cr; 07" +14H+ + 61—
19. Define ionic product of water.
20. What happens when hydrogen sulphide gas is passed through a solution of arsenic oxide? Name the
chemical method.
21. Write a note on denaturation of proteins.
22. How is terylene prepared?
23. Write the IUPAC name of the following compounds.
CH,—-O-CH ,-CH -CH,
) CH,
(iii) Neopentyl alcohol (iv) Glycerol
24. The equivalent conductance of M /36 solution of a Weak monobasic acid is 6 mho cm? equiv-! and at
infinite dilutionis 400 mho cm? equiv-1. Calculate the dissociation constant of this acid.

(i) CHz=CH-CH»-CH,0H

IIl.Answer any six of the following. (Q.No . 33 is compulsory) 6x3 =18
25. How will you identify borate radical? Write the reactions involved.
26. Why do transition elements and its compounds act as catalyst?
27.0.1M Solution of HF is weak acid. But 5M solution fo HF is stronger acid. Why?
28. Sketch Face Centred cubic unit cell (FCC) and calculate the number of atoms present in it.
29. What are promoters and catalytic poison?
30. For the general reaction A — B Plot of concentration of A Vs time is given in the graph below.
Answer the following questions on the basis of this graph.

[A] (i) What is the order of the reaction?
(i) What is the slope of the cruve?
T \ (iii) What is the unit of rate constant?
t—

31. There are two isomers with the formula CH;NO; How will you distinguish between them?

32. What are the tests to differentiate ethanol and phenols?

33. An organic Compound (C3HsBr) (A) on treatment with Mg in dry ether gives (B) which on treatment
with CO; followed by acidification gives (C). Identify (A), (B) & (C) and write possible
equations.
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IV. Answer the following questions: - 5x5=25
34.a) i) Explain extraction of copper from copper pyrites.
ii) Explain electrolytic refining of silver.
(OR)
b) i) What are amphiboles? Give example.
ii) What type of hybridization occurs in the following compounds.
a) BrFs b) IF7
35.m) i) Explain why Cr3+ is strongly reducing while Mn3+is strongly oxidizing?
ii) What is stability constant? Mention its significance.
(OR)
b) i) Define half life period of reaction. Show that for a first order reaction half life period is
independent of initial concentration.
ii) What do you mean by salt hydrolysis?
36.a) i) Write a note on standard hydrogen electrode (SHE)?
ii) Why is AC current used instead of DC in measuring the electrolytic conductance?
(OR)
b) i) Write a note on electrophoresis.
ii) What is packing efficiency?
37.a) i) Expalin primary, secondary and tertiary structure of proteins.
ii) How is the following conversion affected?
hex-4-enitrile — hex-4-enal
(OR)
b) i) Explain the mechanism of cleaning action fo soaps and detergents.
ii) How are the following conversions effected?
(X) Benzene — acetophenone
(Y) Benzaldehyde — hydrobenzamide.
38. a) The Ka value of HCN is 10-9 What is the pH of 0.4M HCN solution?
(OR)
b) An aromatic nitro compound (A) on reduction with Sn/HCl gives compound (B) C¢H7N, which on
treatment with Benzoyl chloride in the presence of pyridine to give compound (C). Compound (B) on
treatment with CH3Br to give compound (D) which further reacts with NaNO/HCI to give compound
(E) with yellow oil liquid. Identify (A) to (E) and write the reactions.
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I. Choose the correct answer 15x1=15
1. Which one of the following is not correct?
a) La(OH)3 is less basic than Lu(OH)3
b) In Lanthanoid series ionic radius of Ln3+ion decreases
c) La is actually an element of transition metal series rather than lanthanoid series.
d) Atomic radii of Zr and Hf are same because of lanthanoid contraction.
2. Among the following complexes, which one shows Zero Crystal field stabilization energy
(CFSE) is
a) [Mn(Hz0)s]3* b) [Fe(H:0)q]3* c) [Co(H20)e]>* d) [Co(H20)e]*
3. The process of converting hydrated aluminia into anhydrous alumina is called.
a) Roasting b) Smelting c) Auto - reduction d) Calcination
4. On hydrolysis BF3 gives Boric acid andconverted to fluroboric acid. The fluoroboric acid contains the
species.
a) H+, F- & BF3 b) H* & [BF4]" c) [H BFs]* & F- d) H+B3+ & F-
5. The acid having 0-0 bond in tis structure
a)H2S0s b) H2S206 C) H2S5208 d) H25406
6. The number of close packed spheres is ‘n’. The number of tetrahedral voids generated is equal
to ----------------
a)n b) 2n C) 2n2 d)3n
7. What is the rate law of the reaction 2A + 2B — C + 2D If the concentration of A is doubled at constant
[B] the rate of the reaction increases by factor4. If the concentration of B is doubled at constant [A], the
rate is doubled.
1
a) Rate = k[A] [B]2 b) Rate = k[A] [B] c) Rate = k[A]? [B]? d) Rate= k[A]Z [B]
8. The change of W/0 emulsion in to 0/W emulsion is Called --------------------
a) Coagulation b) Emulsification c) Decomposition d) Inversion fo phase
9. The general representation of a fuel cell is

a) Fuel / Eelctrode / Electrolyte / Electrode / Oxidant
b) Oxidant / electrode / Eelctrolyte / electrode / Fuel

c) Fuel / Eelctrode / Electrolyte / Eelctrode / Reductant

d) Oxidant / electrode / Eelctrolyte / Eelctrode / Reductant

10.The aqueous solution sodium acetate, amomonium chloride, sodium nitrate are respectively

a) Neutral, acidic, basic b)acidic, basic, neutral

c) basic, acidic, neutral d) basic, acidic, basic
11.Which of the following reaction will give ether?

a)C;HsONa + CoHsBr — b) CHsCH, OH —2252%0:

c) CH3CH, OH+ CHoN, — 2% d) All of the above

12. Arrange the following compounds in decresing order of reactivity for hydrolysis reaction.

CalinC CHC"Y (2 €N e

e i o
b) d)
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13. KT
0 Il..l"il. el Hlyed by L /7 H0) Cr HgSO /50, dy CuyCly
14. Glucose —F"_5 Product —2&== 5 Product —*2 A, the compound ‘A’ is
a) Heptanoic acid b) 2 - iodohexane c) Heptane d) Heptanol
15. Assertion : The quality of soap is described in terms of total fatty matter (TFM value)

Reason : As per BIS tandards, Grade - I soaps should have 60% minimum TFM value.

a) Both assertion and reason are true and Reason is correct explanation for Assertion

b) Both assertion and reason are true and reason is not correct explanation for Assertion
c) Assertion is true but reason is false. d) Both Assertion and reason are false

II.Answer any six of the following (Q.No .24 is compulsory) 6x2=12
16.CO is areducing agent. Justify with an example.

17. Transition metals show high melting points why?

18. In tetrahedral field, draw the figure to show spilitting of d - orbitals.

19. What is flocculation value?

20. How cathodic protection helps to protect the metal from corrosion?

21. What are Antiseptics? Gvie an example

22. Write a note on Sabatier - mailbe method?

23. Why formic acid act as strong reducing agent? Give one equation to show its reducing
property.

24. The rate constant for a first order reaction is 1.54 x10-3 S-* Calculate its half life time.

IIl.Answer any six of the following. (Q.No . 33 is compulsory) 6x3 =18

25. Write short ntoes on Zone refining process.

26. How double salt differs from co-ordination compounds?

27. Calculate the number of unpaired electrons in Ti3*, Mn?* and calculate the spin only Magnetic
moment.

28. Explain buffer action of acidic buffer.

29. What is Zero order reaction? Derive rate law for a Zero order reaction.

30. Define the terms crystal lattice and unit cell.

31.1i) The major product formed when 1 - ethoxy prop-1 ene is heated with one equivalent of HI
ii) What happens when 1- phenyl ethanol is treated with acidified KMnO4?

32. Draw the strucutes of cellulose and Sucrose.

33. Identify Compounds A,B and C in the following sequence of reaction.

CHyCH,NC —H0 5 A HO 5 ——"22 ¢
IV. Answer the following questions: - 5x5=25

34. a) For the complex [Fe(en).Cl;] Cl, identify
1) Oxidation number of Fe
2) Hybridisation and shape
3) Magnetic behavior
4) Number of geometric isomers
5) Whether there may be optical isomer also?
6) IUPAC name.

(i) How Cr;0s3 is reduced to Cr by Al powder?
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(OR)
b) i) List any five compounds of xenon andmention the type of hybridization and Strucute of the
compounds.
35. a) i) Write any two medicinal uses of co-ordination compounds.

ii) What are hydrate isomers? Explain with an example.
(OR)
b) i) Write any three condensation methods of preparation of colloids.
ii) Mention the medicinal uses of colloids.
36. a) Derive expression for hydrolysis constant and pH of Salt of weak acid and strong base.
(OR)
i) Write a note on formation of a - helix.
ii) Write the uses of nitroalkanes.
37.a) How polymers are classified on the basis of structure and molecular forces, give examples
of each one.
(OR)
b) i) what happens when ethanoic acid reacts withethanol in the presence of con H2S04 Give its
complete mechanism.
ii) Name the ester which has the following flavour?
(1) Banana (2) Pineapple (3) Orange (4) Apricot
38.a) An atom crystallizes in FCC crystal lattice and has a density of 10gcm-3  with unit cell
edge lengthof 100pm. Calculate the nubmner of atoms present in 1 g of crystal.
(OR)
b) An organic compound C2HeO (A) heated with Con H2SO4 at 443K to give an unsaturated
hydrocarbon CzH4 (B), Which on treatment with Bayer’s reagent to give compound C2H¢O: (C)
which is used as antifreeze in automobile radiator. Compound (C) distilled with con H2S04
to give cyclic compound C4HgO2 (D). Compound (A) is heated with Con H2S04 at 413K - to
give compound C4H100 (E) Identify Compounds (A) to (E) and write equations.
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1. Which among the following is not a mineral of iron?
a) Haematite b) Magnesite c) Magnetite d) Siderite
2. The formula of azurite is -------
a) CuCO3.Cu(OH)2  b) 2 CuCO3.Cu(OH)2 ¢) CuC03.2Cu(OH)2 d) CuS04.Cu(OH)2
3. Which one of the following is an oxide ore?
a) Malachite b) Copper glance  c) Haematite d) Zinc blends
4. Calamine is an ore of
a)Zn b) Cu c) Al d) Fe
5. In the froth floatation process, the depressant used is
a) sodium xanthate b) sodium sulphite c¢) sodium cyanide d) all of these
6. The function of potassium ethyl xanthate in froth floatation process is to make the ore
a) attracted towards water b) water repellant
c) lighter d) heavier
7. Which one of the following ores is concentrated by chemical leaching method?
a) Galena b) Copper pyrite c) Cinnabar d) Argentite
8. The ore that is concentrated by froth floatation process is
a) cinnabar b) bauxite c) malachite d) zincite
9. Concentration of copper pyrites is done by

a) smelting b) froth floatation
10. The composition of copper matte is
a) CuzS + FeS b) CuzS + Cuz0 c¢) CuzS +FeO d) Cuz0 +FeS
In the extraction of copper from its sulphide ore, the metal is finally obtained by the reduction
of cuprous oxide with
a) copper (I) sulphide (CuzS)
c) iron sulphide(FeS)
12. Auto-reduction is employed in the metallurgy of
a) Hg b) Al c) Ti d) Zn
The metallurgical process in which a metal is obtained in a fused state is called
a) smelting b) roasting c) calcination d) froth floatation
14. Low boiling metals like zinc and mercury are refined by

a) liquation b) distillation c) electrolytic refining
15. Which of the following is used for extracting crude metal in melallurgy?

c) roasting d) bessemerisation

11.
b) sulphur dioxide (S032)
d) carbon monoxide (CO)

13.

d) zone refining

a) roasting b) leaching c) reduction d) bothaand c
16. In aluminothermic process --------- an ignition mixture

a) Mg & BaO: b) Al & Cr203 c) Cr & Al;03 d) Ba & Mg0:
17.Mn304(s) + C(s) —------ (A)-------- + CO(g)T

a)Zn b) Cr c) Mn d) Fe
18. Find the odd one out

a) CuzS b) PbS ) Zns d) Fe304
19. Match the following

A) Collector - 1. Zone refining

B) depressing agent - 2.Si02

C) Flux - 3. NaCN

D) Silicon, gallium - 4. Sodium ethyl xanthate

A B C D A B C D
a) 1 2 3 4 b) 2 1 3 4
C) 3 1 2 4 d) 4 3 2 1

20. Metals occur in a combined state as

a) oxides, cyanides, aldehyde
c) chlorates, chlorides, oxychlorides

b) oxides, sulphides, silicates
d) amines, amidy, ketones
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1.

2.

3.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

The elements in which the extra electron enters to np orbitals are called
(a) s-block elements (b) p-block elements (c) d-block elements (d) f-block elements
The general electronic configuration of p-block elements

(a) ns2 npl-6 (b) ns? np® nd10 (c) ns? (d) ns?np®nd10 nfl-14
The properties in between the metal and non-metal

(a) allotropes (b) amorphous (c) Crystalline (d) metalloid

Which shows only -1 oxidation state:

(a) fluorine (b) Chlorine (c) bromine (d) Iodine

The noble gases are unreactive because they

a) have same number of electrons b) have an atomicity of one

c) are gases with low densities d) have stable electronic configuration

TI*1 is more stable than TI*3 because of ---------

a) Inert pair effect (b) Catenation (c) allotropes (d) Ionisation energy

The molecular formula of borax
a) Naz [B4 Os (OH)4] .8 H20 b) Naz B4 07.10H20 c) Naz[B4 Os (OH)4] .2H20 d) Both (a) & (b)
Boran compounds are

a) electron Rich (b) electron deficient c¢) Addition compounds (d) ionic compounds
Which of the following elements does not show inert pair effect

a) Ga (b) Al (c) In (d) Tl

The diagonal partner of element is

a) Li (b) Al (c) Si (d) Mg

The shape of jewelers borax

a) prismatic (b) Octahedral (c) Triangular (d) Tetrahedral

A mixture of boric acid with ethyl alcohol burns with green edged flame due to the formation of
a) Ethyl borax (b) Ethyl borate (c) Methyl borax (d) Methyl borate
Which of the following statements regarding boric acid false?

a) It acts as a tribasic acid b) It has a planar structure

c) It acts as a monobasic acid d) Itis soluble in hot water

Boric acid heated to red hot gives.

a) HBO: (b) H2BO? (c) B203 (d) Borax

d) 1 bridged hydrogen atoms and 1 terminal hydrogen are present

Which one of the following statement regarding BF3 is not correct
a) Itis a Lewis acid (b) Itis an ionic compound
c) Itis an electron-deficient compound (d) It forms adducts
Which metal present in cell wall
a) Na (b) Al (c)B (d)C
Potash alum is manufactured from
(a) Alunite (b) aluminon (c) Ferric alum (d) Chrome alum
Which is employed to arrest bleeding
a) Caustic soda (b) Caustic Potash (c) Ferric alum (d) Potash alum
Which is a double salt
a) K2S04.A12(S04)3 .24H,0 (b) NaCl (c) K4[Fe(CN)e¢] (d) KCI
Match the following
A. Borax - 1) NazB4075H20
B. Prismatic - 2) NazB407
C. Octahedral - 3) NazB407 10H20
D. borax glass - 4) [B4Os (OH)4]#
A B C D A B C D
(@ 4 3 2 1 (b) 3 1 4 2
(c) 3 4 1 2 (d 2 4 1 3
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1. Which of the following group is called Tetragens

(a) Boron group (b) Carbon group (c) nitrogen group (d) Inert gases
2. Which of the groups is called as halogens

(a) 13th group (b) 14t group (c) 17t group  (d) 15% group
3. The 11t most abundant element present is the earth crust

(a) Nitrogen (b) Carbon (c) Phosphrous (d) Oxygen
4. Atomic radius of Nitrogen

(a) 1.80 (b) 2.06 (c) 1.55 (d) 1.50
5. Liquid nitrogen is used for

a) Manufacture of ammonia (b) Manufacture of HNO3

c) Manufacture of Calcium cyanamide (d) Cryosurgery
6. Bonding energy of N2 molecules

(a) 220 Cal mol+1 (b) 223 Cal mol! (c) 225 Cal mol-? (d) 230 Cal mol!
7. Which catalyst is used in ostwald process

(a) Iron (b) Graphite (c) Platinum (d) Copper
8. The colour formation of (Cu (NH3)4) 2* is

(a) Green (b) Violet (c) deep blue (d) Grey green
9. The bond angle of NH3

(a) 109028 (b) 120° (c)107° (d) 1170
10. The shape of NH3 molecule is

(a) Trigonal planar (b) T-shape (c) Pyramidal (d) Tetrahedral
11. The bond angle of NH3

(a) 109028 (b) 120¢ (c)107¢ (d) 1170
12. The shape of NH3 molecule is

(a) Trigonal planar (b) T-shape (c) Pyramidal (d) Tetrahedral

13. Nitric acid acts as a
(a) reducing agent (b) Oxidising (c) Amphoteric (d) None of these
14. Fuming nitric acid contains

(a) Sulphides of nitrogen (b) oxides of nitrogen

(c) H20 with nitrogen (d) None of these
15. Which metals reacts with HNOs

(a) Gold (b) Platinum (c) Tantalum (d) Copper
16. Oxidation state of N in N20

(a) +3 (b) -3 (c) +1 (d) -2
17. The chemical formula of pyrophosphoric acid

(a) H3PO3 (b) H3PO> (c) H4P20s (d) H4P207
18. The chemical formula of zinc blende

(a) ZnBr (b) ZnO (c) ZnS (d) ZnSo4
19. Water contains the mass of oxygen

(a) 73% (b) 90% (c) 85% (d) 83%
20. Formation of Oz by decomposition of H20> which catalyst is used

(a) Fe (b) H2S04 (c) MnO: (d) HNOs3
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1) The transition elements have a general electronic configuration :
a)ns?np® nd'! (b (n-1)d10ns0-2np %6 ¢) (n-1)d 119 ps 1-2 d) None of these
2) Which of the following has the maximum number of unpaired d-electron ?

a) Zn2+ b) Fe2+ c)Niz* d) Cu?*
3) Which one of the following shows highest magnetic moment ?

a) V3+ b) Cr3+ c) Fe3+* d) Co3*
4) Which of the following oxides is basic ?

a) Mn;03 b)MnO c) MnO3 d) Mn20~
5) Which of the following ions is paramagnetic ?

a) Sc3+ b) Cu* c) Zn?* d) Niz*

6) Cuprous ion is colourless, while cupric ion is coloured because

a) Both have unpaired electrons in d- orbital

b) cuprous ion has incomplete d-orbital and cupric ion has a completed d- orbital

c) Both have half filled p and d- orbitals

d) Cuprous ion has a completed d-orbital and cupric ion has an incomplete d- orbital
7) Theions from among the following which are colourless are:

A) Ti** B) Cu* C) Co3+ D) Fe2+

a) (A)and(B)only b) (A)(B)and (C) c) (C) and (D) d) (B) and ( C)
8) Electronic configuration of Cu (Z=29) is

a) (Ar) 3d° 4s2 b)(Ar) 3d> 4s2 c) (Ar) 3d10 481 d) (Ar)3d® 4s2
9) V205 is red orange in colour. It is a/an oxide

a) Acidic b) Basic c) Amphoteric d) Neutral

10) Among the following outermost configurations of transition metals, which shows the
highest oxidation state

a) 3d3 4s2 b) 3d> 4s? c) 3d5 4s? d) 3dé4s2
11)Transition elements are frequently used as catalyst because:

a) of variable oxidation state b) of high ionic charge

c) large surface area of reactants d) of their specific nature
12) Which of the following alloys contains only Cu and Zn?

a) Bronze b) Gun metal c) Brass d) Bell metal

The first ionisation energies of the elements of the first transition series :
a) increase as the atomic number increase
b) decrease as the atomic number increase
c) do not show any change as the addition of electrons takes place in the inner (n-1)dorbitals
d) increase from Ti to Mn and then decrease from Mn to Cu.
13) Which has the maximum ferromagnetic character ?

a)Ni b) Co c) Fe d) Pb
14) 3d104s0 electronic configuration exhibits

a) Hg?* b) Cu?* c) Cd?* d)Zn2+
15)Which one of the following oxides is ionic ?

a)MnO b) Mn207 c) CrO3 d) P20s
16) Manganese achieves its highest oxidation state in its compound

a) MnO3z b) Mn304 C) KMnOg4 d) K2MnO4

17) Across the lanthanide series, the basicity of the lanthanoid hydroxides:

a) increases b) decreases c) first increases and then decreases  d) does not change
18) Misch metal is

a) an alloy of lanthanide and copper b) an alloy of lanthanide and nickel

c) an alloy of lanthanide iron and carbon d) an alloy of lanthanide of calcium and copper
19) An alloy of lanthanides

a) type metal b) nichrome c) wood metal d) misch meta
20. Maximum oxidation state exhibited by lanthanides is
a) +1 b)+2 c)+3 d) +4
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1. Mohr’s salt is a/an
a)Simple salt b) double salt c) complex salt d) organic salt
2. The chemical formula of Mohr’s salt
a)K2S04.Al2(S04)3.24H20 b) FeS04.(NH4))2S04.6H:0
c) K4[ Fe(CN)s] d) NaCl
3. Who is father of coordination chemistry
a)Dalton b) medaleev c) Alferd werner d) Moseley
4. Primary valency is satisfied by
a)Oxidation state b) coordination no of ligand
c) positive ions d)negative ions
5. Secondary valency is satisfied by
a)Positive ion b) negative ion  c) neutral molecules d)bandc
6. Secondary valency of CoCl3.5NH3 complex
a)5 NH3 molecules b) 1 Cl-ions c) bothaand b d) none of these
7. What is the [UPAC name of the compound k4| Fe(CN)s]?
a)Potassium hexa cyano ferrate (III) b)Potassium hexa cyano ferrate (II)
c)Potassium hexa cyano ferrate (II)ion d)None of these
8. The oxidation state of Fe in K4[Fe (CN)s]
a)+3 b)+2 c) +1 d)o

9. In coordination compounds the ligand combine with central metal ion which type of
bond is formed

a)lonic bond b) covalent bond c) coordinate bond d) none of these
10. The coordination polyhedra of the compound [Ni (CO)4]

a) octahedaral b) square planar c) Tetrahedral d) none of these
11— bonds present between central metal atom and ligand

a)o b)r c)covalent d) none of these
12.The coordination number of Niin [Ni(en)3]Cl:

a)4 b) 3 c) 2 d) 6
13.The negative charge appear on which of the following complex

a) [Ag(NHz)2]  b) [Fe(H20)s ] c)[Co(CN)s] d) [Co (NH3)3Cls]
14.An example of chelating ligand

a) NO2 b) CI- c)Br- d) en
15. Which of the following complex is called * zeise’s salt’

a) [Pt(NHs)4 ][PtCla] b) K[PtCls (C2H4)] c)en d) none of these
16.en isa

a) Positive ligand b) negative ligand c) neutral ligand d) none of these
17.Which of the following is a strong ligand

a) CI- b)H20 c) CN- d) en
18.The magnetic moment value of [Ni(CN)4]%

a)l b)2 c)0 d)4
19.The magnetic moment value of [Fe (CN)s]3

a) 2.83 b)1.732 c)3.87 d)4.90
20.Which type of spin present in diamagnetic

a) high spin b) low spin c) neutral d) none of these
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1) Amorphous solidscan also be called -----------
a) pseudo solids b) true solids c) super cooled liquids d) bothaandb
2) Among solids highest melting point is established by
a) covalent solids b) ionic solids c) Pseudo solids d) Molecular solids
3) Crystalline solid
a) sugar b) Rubber c) Plastic d) Glass
4) Amorphous solids are
a) supercooled liquids b) liquid in real sense
c) solid substance inreal sense d) substance with definite melting point

5) Match the primitive in it cells given in Column | with their axial angles axial distances given in
Column 1l and select the correct answer from the codes given

Column 1 Column 1l
i) Orthorhombic p) a=B=90°, y=120° a=b#c
ii) Monoclinic q) a=b=y=90° a=b=c
iii) Hexagonal r) a=y=90° azb#c
iv) Cubic s) a=B=y=90° azb#c
6) Which type of solid crystals will conduct heat and electricity?
a) lonic b) Metallic c) covalent d) Molecular
7) The number of atoms per unit cell in a simple cubic face centred cubic and body centred cubic
are ------------ respectively
a) 14,2 b) 4,1,2 c) 241 d)4,8,2
8) The total number of lattice arrangements in different crystal systems is
a) 3 b) 8 c)7 d) 14
9) In which of the following compound, 8:8 coordination is found
a) CsCl b) MgO c) Al203 d) all of these
10) Body centred cubic lattice has a coordination number of
a) 4 b)8 c)12 d)6
11) Which one of the following has Frenkel defect?
A) sodium chloride b) Graphite c) Silver bromide d) Diamond
12) Which of the following is an amorphous solid?
a) Iron b) Graphite c) Diamond d)Glass
13) Solid COzis an example of
a) covalent solid  b) metalicsolid  c) molecular solid d) ionic solid
14) Which one of the followingis a covalent crystal
a) Rock salt b) Ice c) Quartz d) Dry ice
15) Monoclinic crystal has dimension
a) azb#c; a#B#y=90° b) a=b#c; a=p=y=90°
c) a=b=c; a=b=y=90° d)a#b#c; a=y=90°; #90°
16) The simple cubic unit cell coordination no of each atom is
a) 4 b) 2 c) 8 d) 6
17) Simple cubic packing occupy volume ------------
a) 68% b)53.31 €)52.31% d) 86%

18) Assertion (A) : The total number of atoms present in a simple cubic unit cell is one.
Reason (R) : Simple cubic unit cell has atoms at in corners each of which is shared between eight
adjacent unit cells.
a) Both A and R are true and the R is the correct explanation of the A.
(b) Both A and R are true but the R is not the correct explanation of the A.

(c) Assertion is true but reason is false. (d) Both assertion and reason are false.
19) In stoichiometric ionic crystals vacancy is

a) two ions b) three ions c) one ion d) four ion
20) Which metal is used dopping process

a) Fe b) As c) Si d)P
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1) The rate constant for the reaction, 2N205 — 4 NO2 + Oz is 3x 10->s1. If the rate of reaction is
2.4x10-°mol L't S-1, then concentration of N20s is
a) 1.4(M) b) 1.2(M) c) 0.04 (M) d) 0.8(M)
2) Thereaction 2N205 — 2NO2 + O; follows first order kinetics. Hence the molecularity of the
reaction is
a) Unimolecular b) pseudo molecular c) Bimolecular d) None of the above
3) The reaction 2NOg) + Oz2(g) = 2NOz(g is of first order. If volume of reaction vessel is

reduced to%The rate of reaction would be

a) 3i times b) % times c) 3 times d) 6 times
4) Which one of the following is wrongly matched?

a) Saponification of CH3COOCH3 - second order reaction

b) Hydrolysis of CH3COOCH3 - Pseudo unimolecular reaction

c) Decomposition of H202 - First order reaction

d) Combination of Hz and Bz to give HBr- Zero first order reaction
5) For a reaction A+2B —C, rateis given by R=K[A] [B]2. The order of reaction is:

a)3 b) 6 c)5 d)7
6) Rate constant for a reaction Hx+I> —#2HI is 49, then rate constant for reaction 2ZHI—H2+I> is
a) 7 b) - c) 49 d) 21

7) The rate of the reaction 3A+ 2B —Products is given by the rate expression: Rate=
K[A][B]? if Ais taken in excess, the order of the reaction would be:

a)3 b) 2 1 d)5
8) For an elementary reaction, 2A + B—C + D the molecularity is
a) Zero b) One c) Two d) Three

9) An example of a pseudo unimolecular reaction is
a) Dissociation of hydrogen iodide
b) Hydrolysis of methyl acetate in dilute solution
c) Dissociation of phosphorous pentachloride
d) Decomposition of hydrogen peroxide
10)Which one is correct for K= A e*fa /gy ?
a) Ea is energy of activation b) R is rydberg constant
c) K is equilibrium constant d) A is adsorption factor
11)Assertion (A) : The instantaneous rate of reaction can be studied in chemical kinetics.
Reason (R):Ionic reactions occur instantaneously
a) If both A and R are true and the R is the correct explanation of the A
b) If both A and R are true but R is not the correct explanation of the A
c) If assertion is true and reason but reason is false
d) If assertion is false but reason is true
12) Assertion(A) : Photosynthesis in plants involves reaction of COz and H20 in presence of sun
light and chlorophyll .
Reason (R) :It is chlorophyll which absorbs light and passes this energy to reactant
molecules.
a) If both A and R are true and the R is the correct explanation of the A
b) If both A and R are true but R is not the correct explanation of the A
c) If assertion is true and reason but reason is false
d) If assertion is false but reason is true
13)The relationship between half-life period (ti,2) and first order rate constantis

a) ti2 = 0.693k b) ti2 = 01—63 c)tiz= Oiﬁ d) ti2= 0;{?
14)The unit for activation energy is
a)s1 b) ] K1 mol1 c) ] mol! d) k' mol-1

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com


https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

15) If 25% of aradioactive elementis left after 40days, then its halflife period is

a) 4 days b) 10 days c) 20 days d) 80 days
16)When the value of energy of activation increases, the rate of the reaction
a) decreases b) increases c) does not change d) becomes zero

17) In a first order reaction the concentration of the reactantis increased by 2 times. The rate
of the reaction is increased by
a) 2 times b) 4 times c) 10 times d) 6 times

18)The slope of Arrhenius plot is having a value

a) k/2.303 b) Ea/R c) -Ea/2.303R d) -2.303 Ea/R
19)Which one of the following is a second order reaction

a) 2NO + 02 > 2NO: b) Dissociation of H20> in solution

c) Dissociation of HI on the surface of gold d) K2S208 + 2KI — 2K3S04 + Iz
20)The minimum amount of energy a molecule should posses for an effective collision is

a) internal energy b) potential energy c) threshold energy d) activation energy
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1. Ostwald’s dilution law is applicable in the case of
a)CH3COOH b)NaCl c)NaOH d)Hz2S504
2. The PHof a solution containing 0.1N NaOH solution is
a)l b)10-1 c)13 d)10-13

3. Which one of the following formulae represents Ostwald’s dilution law for a binary electrolyte
whose degree of dissociation is « and concentration C.
a)K=(1-0)C/a  b)K=a2C/1-a c)K=(1-a)C/a? d)K=0a?C/ (1-a)C

4. NH4OH is a weak base because

a) it has low vapour pressure b) it is only partially ionised
c) it is completely ionised d) it has low density
5. When sodium acetate is added to acetic acid, the degree of ionization of acetic acid ___
a) Increases b) decreases c) does not change d) becomes zero

6. Which one of the following relationship is correct?
a) pH =1/[H*] b) pH = logio [H*] c¢) logiopH=[H*] d)pH = logio1/[H*]
7. The hydrogen ion concentration of a buffer solution consisting of a weak acid and its salt is given by
a)[H*]=Ka[Acid]/[Salt] b) [H*]=Ka[Salt] ) [H*]=Ka[Acid] d)[H*]=Ka[Salt]/[Acid]
8. The pH scale was introduced by
a) Henderson b) Sorensen c) Debye d) Huckel
9. The suppression of the dissociation of a weak electrolyte by the addition of a common ion is called
a) electrophoretic effect ~ b) asymmetry effect c¢) common ion effect  d) migration effect
10.The pH of a buffer solution is calculated by using

a) Kohlrausch law  b) Arrhenius equation c) Faraday's law d) Henderson's equation
11.The hydrogen ion concentration of 0.01 M sodium hydroxide solution is

a)102M b)12 M c)10-12 M d)2M
12.The pH of 0.05 M KOH solution is

a)5 b) 9 c) 2 - log1o3 d) 12 + logio®
13.The pKw value at 298K is

a) 10-14 b) 14 c)7 d) 10-7
14.pH + pOH = 14 holds good at

a) below 25° C b) above 25°C c) 25°C d) at any temperature
15.Henderson equation for a weak acid and its salt is

a) pH = pKy + log [salt] / [acid] b) pH = pKy + log [salt] / [acid]

c) pH = pka + log [salt] / [acid] d) pH = pka + log [acid] / [salt]

16.The buffer present in human blood is
a) CH3COOH + CH3COONa b)NH4OH + NH4Cl  ¢) H2€CO3 +HCO3- d) Both (a) and (b)
17.The dissociation constant of acetic acid at a given temperature is 1.69x10-5. The degree of
dissociation of 0.01M acetic acid in the presence of 0.01M HCl is equal to
a.0.41 b.0.13 c. 0.169x10-2 d.0.013
18.Ionisation constant of CH3COOH is 1.7x10-> and (H* )is 3.4x10-4. Then, initial concentration of
molecules is

a. 6.8x10-3M b. 2.5x10-*M c. 3.5x10-3M d. 4.5x10-3M
19.The species which acts as a lewis but not as Bronsted acid is

a. NH, b. 0% c. BF3 d. OH-
20.Which of the following is a conjugated acid - base pair?

a. HCI, NaOH b. NH4CI,NH4+OH c. H2SO4HSO4 d. KCN, HCN
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1. The value of enthalpy of neutralization of strong acid by strong base is
a) 57.32 KJ equiv-l b)-57.32 K] equiv-! c)-72.57 KJ equiv-! d)-72.23 K] equiv-1
2. Metallic chromates are yellow due to the presence of

a) Crz03 b) Cr c) Cr042- d) Cr207%
3. The degree of dissociation of weak electrolyte can be calculated as
8
a) Ae—Ac b) Ac+ Ac c) —& d) Moo
oo Ae

4. The product of cell constant and conductance is
a) molar conductance b) specific conductance c) equivalent conductance d) specific resistance
5. The quantity 1/ais called

a) cell length b) cell constant c) cell area d) cell resistance
6. Ohm is the unit of

a) current b) potential difference c) resistance d) quantity of electricity
7. The pH of 1M HCl is

a) zero b) one c) three d) two

8. The S.I unit of electrical current is

a) volt b) ampere c) ohm d) mho
9. The conductance of a solution containing one mole of the electrolyte is called

a) specific conductance b) conductance c) equivalent conductance d) molar conductance
10. The unit of molar conductance is

a) ohm? m mole-?  b) ohm1mmol-? c¢)ohm1m3mol-2 d)ohm-!m?2mol-1
11. Debye, Huckel and Onsager equation is A¢ =

a) koo + (A+BAc) VC b)hw— (A+Bhy) C ) Awn-(Ahc+B)JC  d) A, - (Ak,+B) JC
12. The pH of 0.1M acetic acid is 3. The degree of ionisation of acetic acid is

a) 0.1% b) 10% c) 1% d) 0.01%
13. The unit of quantity of electricity is

a) volt b) ampere c) coulomb d) ohm
14. The electrochemical equivalent of an element is the ratio of equivalent mass to

a) valency b) N c) 96495 coulombs c¢) atomic mass
15. The reaction that takes place at the anode during electrolysis is

a) reduction b) oxidation c) hydrolysis d) electrophoresis
16. The equivalent conductance in mho m? g equiv-1 unit is Ac =

g K b) Kx1072 g Kx¢ " Kx1073

c C 1073 c?

17. The equivalent conductivity of 0.1 M weak acid is 100 times less than at infinite dilution. The
degree of dissociation is

a) 10 b) 0.1 c) 0.01 d) 0.001
18. Unit of cell constant is
a) ohm-1! b) m-1 c) Kg.C-1 d) no unit

19. Current strength of 1 ampere is passed through a solution for one hour 40 minutes and 50
seconds. The quantity of electric current is

a) 6050 coulombs b) 2000 coulombs ¢) 6050 ampere/sec d) 6050 sec/ampere
20. Ac = ac for
a) NaCl b) KCl c) KNO3 d) all of these
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1. An emulsion is a colloidal solution of
a) two solids b)two gases c)two liquids d)solid and liquid
2. Tyndall’s effect if not observed in
a)emulsions b)colloidal solutions c)true solutions d)None of these.
3. Fog is a colloidal solution of
a)gas in solid b)Solid in gas c)gas in liquidd)liquid in gas
4. Colloids are purified by
a)Precipitation b)coagulation c)filtration d)dialysis
5. The platinum catalyst used in the oxidation of SO; by contact process in poisoned by
a)A5203 b)VzOs C)F6203 d)CuClz
6. Cocount charcoal has a great capacity of the ___ of gases.
a)adsorption b)absorption c)desorption d)all of these.
7. Emulsifying agent is used for
a)precipitation of an emulsion b)coagulation of an emulsion
c)stabilization of an emulsion d)none of these.
8. Which one is correct factor that explain the increase of rate of reaction by a catalyst?
a)Shape selectivity b)particle size
c)Increase of free energy d)Lowering of activation energy.
9. An example of lyophilic colloid is
a)sulphur in water b)phosphours in water c)starch d)all of these.
10. The blue colour of the sky is due to
a)Tyndall effect b)Brownian movement
c)electrophoresis d)electro-osmosis
11. Catalyst used in Deacon’s method of manufacture of chlorine is
a)NO b)CucCl; c)Fe203 d)milk of magnesia
12. The migration of colloidal particles under the influence of an electric field is known as
a)electro-osmosis b)hot dialysis c)electro-dialysi d)electrophoresis.
13. For chemisorption which is wrong
a)lrreversible b)It requires activation energy

c)It forms multimolecualr layers on adsorbent. d)surface compounds are formed.
14. Medicine used as an eye lotion is
a)silver sol b)colloidal gold c)colloidal antimony d)milk of magnesia.
15. Silica gel is utilized for the ---- of the number of gases
a) adsorption b)absorption c) desorption d) all of these
16. Electrophoresis is a---------- property of a colloid
a) Optical b) Kinetic c) Electrical d) Magnetic
17. A substance which increases the activity of a catalyst
a) positive catalyst b) Negative catalyst  c) promoters d) catalytic poison
18. The catalyst used in the hydrogenation of vegetable oils is

a) Fe b) Pt c) Mo d) Ni

19. Colloidal solutions in which the dispersed phase has affinity for the dispersion medium are
called

a) lyophobic b) lyophilic c) suspension d) hydrophobic
20. The sound waves of high frequency are usually called as

a) ultrasonic waves b) huygen waves c) ultra waves d) high frequency waves
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1.Alcohols are isomeric with
a) ethers b) aldehydes c) ketones d) esters
2.Ethanol and methoxymethane are
a) chain isomers  b) position isomers c) functional isomers d) metamers

3.1-Butanol is a

a) primary alcohol b) secondary alcohol c) tertiary alcohol d) aromatic alcohol
4.Alcohol is

a) acidic b) basic c) neutral d) amphoteric
5.Lucas reagent is a mixture of

a) conc. HCI + hydrated ZnCl; b) conc. HCl + anhydrous ZnCl;

c) conc. HNO3 + hydrated ZnCl; d) conc. HNO3 + anhydrous ZnCl;

6.Ethylene glycol reacts with conc.HNO3 in the presence of conc.H2S04 to give

a) ethyl nitrate b) nitro glycerine  c) ethylene dinitrate d) ethylene di sulphate
7.The product obtained when ethylene glycol reacts with conc. H2S04 is

a) diethylene glycol b) dioxene c) ethylene oxide  d) ethylene
8.Which of the following properties cannot be explained on the basis of intermolecular

hydrogen bonding of glycerol?

a) highly viscous b) hygroscopic liquid c) sweetening agent d) high boiling point
9. Allyl alcohol is

a) CH3-CH=CHOH b)CHz=CH-CH20H «¢)CHz2=CHOH d)CHz-CH=CH - CHz OH
10.The Fenton's reagent is

a) FeSO4 + H20 b) FeSO4 + H202 c) alkaline KMnO4 d) acidified KMnO4
11.The oxidising agent used for converting glycerol into oxalic acid is

a) dil HNO3 b) bismuth nitrate c) acidified permanganate d) FeSO4 + H20;
12.Dynamite is prepared from the following alcohol

a) glycol b) glycerol c) benzyl alcohol d) phenol
13.Secondary alcohol on oxidation gives

a) aldehyde b) ketone c) ester d) anhydride
14.Which of the following gives violet colour with neutral ferric chloride solution?

a) phenol b) glycerine c) benzyl alcohol d) ethanol
15.High boiling point of phenol is due to

a) resonance b) aromatic character

c) covalent bond d) intermolecular hydrogen bonding
16.RO-R' indicates

a) ketone b) ether c) ester d) aldehyde
17.Which one of the following is unsymmetrical ether?

a) CH3 -0-C2Hs b) CH3 -0-CH3 C) C2Hs50-C2Hs d) CeH50C6Hs

18.The IUPAC name of CH30C;Hs is

a) ethoxylmethane b) methoxy ethane c) ethyl methyl ether d) methyl ethyl ether

19.Higher ethers can be prepared from lower members by the action of
a) conc. H2S04 b) AgOH c) sodium alkoxide d) Grignard reagent
20.Alcohols and phenols are classified as

[ monohydric Il dihydric Il trihydric Iv polyhydric
Select an appropriate option with correct choices
a.land Il b. Il and III c. I, Ivand I d. All of the above
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1. Schiffs reagent gives pink colour with
a) acetone b) acetaldehyde c) ethyl alcohol d) methyl acetate
2. Isopropyl alcohol vapours with air over silver catalyst at 520K gives
a) tert.butyl alcohol b) acetaldehyde c) acetone d) 2-propanol
3. Formaldehyde polymerises to give
a) paraldehyde b) paraformaldehyde c) formalin d) formic acid

4. The compound that does not undergo Cannizzaro reaction is

a) formaldehyde b) acetaldehyde c) benzaldehyde d) trimethyl acetaldehyde
5. Hydrogenation of benzoyl chloride in the presence of Pd on BaSO4 gives

a) phenol b) benzoic acid c) benzyl alcohol d) benzaldehyde
6. The IUPAC name of CH3-C=CH-C-CH3z is

|C|) |CH3
7. The compound which does not reduce Fehling solution is
a)formaldehyde b) acetaldehyde c) benzaldehyde d) propionaldehyde
Conc.H2S04
8. CH3COCH;3 » .The productis
a)mesitylene b) mesityl oxide c) phorone d) paraldehyde

9. Calcium acetate + Calcium benzoate __ distillation gives

»

a) benzophenone b) benzaldehyde c) acetopheane d) phenyl benzoate
10. Bakelite is a product of reaction between

a) formaldehyde and NaOH b) phenol and methanol

¢) aniline and NaOH d) phenol and chloroform
11. Which of the following is least acidic

a) C2HsOH b) CH3COOH c) CeHsOH d) CICH.COOH
12. Heating a mixture of sodium acetate and soda lime gives

a) methane b) ethane c) acetic acid d) benzene
13. The acid which reduces Tollen’s reagent is

a) acetic acid b) benzoic acid c) formic acid d) oxalic acid
14. The isomerism exhibited by CH3CH,COOH and CH3COOCH3 is

a) metamerism b) position c) chain d) functional
15. Which order of arrangement is correct in terms of the strength of the acid

a) CH3CH2COOH> CH3COOH< HCOOH< CICH,COOH

b) CICH,COOH< HCOOH< CH3COOH< CH3CH,COOH

c) CH3CH2COOH< CH3COOH< HCOOH< CICH2COOH

d) HCOOH> CH3CH2COOH< CH3COOH> CICH,COOH
16. The compound which undergoes intramolecular dehydration with P;0s is

a) acetic acid b) formic acid c) propionic acid d) butyric acid
H 160°C
17. \ C=0 ——? The product is
HO
a) CO+H:0 b) HCOOH c) Hz+ CO: d) HCHO + 02

18. Which of the following compounds will react with NaHCO3 solution to give sodium salt and
CO2?

a) acetic acid b) n-hexanol c) phenol d) both a&c
19. Concentrated solution of sodium acetate on electrolysis gives
a)ethane b)propane c)methane d)butane

20. Aspirin is
a) Salicylicacid  b)Acetyl salicylic acid c) salicylaldehyde d) Methyl salicylate
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1. Which of the following nitro-compounds behave as an acid in the presence of strong alkali?
a) primary b) secondary c) tertiary d) both a and b.
2. Conversion of benzene diazonium chloride to chlorobenzene is called
a) sandmeyer’s reaction b)stephan’s reaction
c) Gomberg reaction d) schotten-baumann reaction
3. Organic compound that does not undergo diazotisation is
a) m-toluidine b) aniline c)p-aminophenol  d) benzylamine
4. The intermediate formed on electrolytic reduction of nitrobenzene in conc.H2S0;4 is
a)CeHsNH-NHCe¢Hs b) CeHs-NHOH c) CeHs-N=N-CsHsd)All of these
5. The nitrogen can be reduced to primary amino group by
a)Sn/conc.Hclb)Zn dust c) Zn/NH4Cl d)Zn/NaOH
6. The organic compound that undergoes carbylamines reaction is
a) (Csz)zNH b)CszNHz C) (C2H5)3N d)(C2H5)4N+I'
7. 9.Aniline differs from ethylamine in its reaction with
a)CHasl b)CHCI3 and caustic KOH c)HNO d)CH3COCI
8. Nitro acinitro tautomerism is exhibited by
a)nitromethane b)nitrobenzene c)chloropicrin d) o-toluidine
9. The basic character of amines is due to the
a)tetrahedral structure b)presence of nitrogen atom
c) electronegativity of nitrogen d)presence of lone pair of electrons.
10. CCI3NO is used as
a) soil sterilizing agent b)organic synthesis c)good solvent  d)antioxidant.
11. C¢HsNH? NaNO;/HCl XXis
a)CsHsCl b)CgHsl\THOH ¢)CeHsN2Cl d)CsHsOH
12. 0Oil of mirbane is
a)nitrobenzene b) benzaldehyde c) methyl salicylate  d) aspirin
13. Primary amine acts as a)electrophile b)lewis acid c)free radical

d)lewis base
14. Which of the following will not undergo Hofmann’s bromamide reaction?

a)ethanamide b)propanamide c)Methanamide d)phenyl methanamide
15. The tertiary nitro compound is

a) 2-nitropropane b)1-nitropropane

c) 1-nitro-2,2-dimethyl propane d)2-nitro-2-methyl propane
16. Electrophile used in the nitration of benzene is

a)Hydroniumion  b)sulphonic acid ) nitronium ion d)bromide ion
17. The product obtained when nitro benzene is treated with Zn/NaOH is

a)aniline b)azoxybenzene c)azobenzene d)hydrazobenzene
18. CeHsN2Cl H3PO2 X +N2+HCI. The compound X is

" Cu'a) CeHsCl b)CsHsNHNH, ¢)CeHe d)Ce¢HsNO:

19. Which one of the following is the most basic?

a) Ammonia b) Methylamine c) Dimethylamine d) Aniline.

20. The reaction between a primary amine, chloroform and alcoholic KOH is known is
a)Gabrial reaction b)Mustard oil reaction
c)Carbyl amine reaction d)Hoffmann reaction
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1. Carbohydrates are
a) polyhydorxy aldehydes b) polyhydroxy ketones
¢) polyhydroxy acids d) either (a) or (b)

2. Sugars are

a) sweet b) crystalline solids c) soluble in water d) all the above
3. Carbohydrates with aldehyde group are known as

a) aldoses b) aldehydes c) aldohexose d) aldols
4. Sucrose on hydrolysis gives

a) maltose  b) glucose and fructose c) 2 molecules of maltose d) starch
5. The molecular formula of glucose is

a) CeH1206 b) C12H22011 c) CeHs03 d) CsH1206
6. Glucose — /P,

a) no reaction b) n-hexane c) cyclohexane d) starch
7. Mild oxidation of glucose with bromine water gives

a) oxalic acid b) no reaction c) gluconic acid d) mannitol
8. Oxidation of gluconic acid with nitric acid gives

a) saccharic acid b) CO2 and water

c) acetic acid and formic acid d) maltosic acid
9. Glucose reacts with acetic anhydride in the presence of pyridine to give

a) mono acetate b) diacetate d) penta acetate d) no reaction
10.The number of 19, 20 alcoholic groups in glucose respectively are

a)3,4 b) 1, 4 c)4,1 d) 2,4
11.The IUPAC name of glucose is

a) 1,2, 3,4,5 - pentahydroxy hexanal b) 1, 3, 4,5, 6 - penta hydroxyl -2- hyxanal

c) 2,3,4,5, 6 - pentahydroxy hexanal d) 1, 2, 3,4, 5 - pentahydroxy hexanone
12.Fruit sugar is

a) sucrose b) cellulose c) fructose d) glycerose
13.Fructose is

a) a monosaccharide b) a ketohexose c) laevorotatory d) all the above
14.A mixture of D(+) glucose and D(-) fructose is known as

a) cane sugar b) sweetless sugar c) invert sugar d) starch sugar
15.Fructose on reduction with HI/P gives

a) n-hexane b) isohexane c) 19 alcohol d) no reaction
16.Glucose and fructose when dissolved in water produce

a) acidic solution  b) basic solution c) neutral solution d) dilute solution
17.Partial reduction of fructose with sodium amalgam and water produces.

a) s-orbitol and mannitol  b) sorbitol only c) mannitol only d) 2-hexanol
18.Glucose has chiral carbons and hence has stereoisomers.

a) 4,16 b) 3,8 c)2,4 d)0,0
19.Fructose has chiral carbons and hence has stereoisomers.

a) 4,16 b) 3,8 c)2,4 d)0,0

A1,23,4,5, 6 - hexanol d) 1, 3, 4,5, 6 - penta hydroxyl 1-2-hyxanal
20.D(+) glucose and D(-) fructose are isomers.

a) optical b) geometrical c) position d) functional
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S1)[Ag(NHs),] <) [Fe(H,0)s] ®) [Co(CN)e] %)[Co (NH3)scls]
20. UL Beo1 Fell SlewewiaBG TBHHBHHTL (B
I) [Co(NH3),] ** plFe(H;0)s1 * @) [Co(NHs)s €Il ** MBauBEled argiaifieoaney
21. SpdbaeuiL 6hFH CFJHme OmuigFed o (I 6l DIMPSHSLILBGSBSI.
o) [PtNH] [PCL] &) KIPICI(CoHa)] @en %) Boupded agialdeveme
22. QaTBasDmenil Faild@ IBHBHIHHT (B
o) NOZ o) &GenmGym ®) yGymGiom ) en
23. SO,%-maflulesr IUPAC Guiwijy
o) FeoemuGLm &) FeulL” ®) Fe0Bul BLm F) BeauBmled 615HIe|L0e0emeV
24. en-eradiug|
o)) Cpidesr el 1) GIFHTLoledr  Freol ®) mhHeev el F) SeuBmled 615Ie|L0606m60
25. [Cr(H20)sCIICl,.H.0 Bipsens o (maurs@ead
o) oaHT )DL TLFNHTF ®) Geuely UFOF ) BaBmled 615HIe|Le0emeV
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Inj ellsHwumggl Ol flé GLosvblenevLiLisier

FHBITLOLITe06ITUILD

ey : Xl

urd  Geugluiluied 6. Sl [flemevemio
NaCl LIlg.&&$&l60 Na* Slulevilenil gylohglenen Cliuleuildherflest 6166016507860
N 12 S3b) 8 Qs IT) 14
CSCI LIg&&Sl6t1 SiemLoLl
3l) sc 3y) fcc @) mmeTLl FF) bCC
LUQIRI&SEL GenMUTLIqHE& &MesTW
3l) NaCl 3}) AgCl @) csci FF) Fes
SIEN&HCHMTemeal LenefuNed Siaml QL GUWINHE QenLCleuailuilen ienLaeus)
3l) L& Geooun@® Q) UQNRI&SEL Gsmmun(®
@) e Gsmoun( ) QeummMiL. Genmun(
QUL ETEMLOLLI &HEBIEE G SEMLOLILTEI {EDIETVI6Y 616501
3l) 6 3)) 4 a) 12 [T) 8
8:8 6UMS SI6VILOLIL| 2 616N Lilg.&HLD
3l) MgF3 3}) CsCl @) Kci FF) NaCl
b Qeulit LMOMID DTS SSHIHMEST CSHTETIL Lig &Hhi&H6r
1) SlWlesflll LG &MIG 6N 3)) eLeL&HIRM] Lilg SHihi&6N
&) 2 Geund LI &HhISH6N r) &&LUIN6II6MLIL LIq SIS

sTeMiLl H60TEGIT SN6MLOLINED eLAMEVUTIED 2 6T6n EIUMET G| LRSI LILIL (Reren 160G édn (hdHerflest
61630160011 &6 &

) 1 3b) 2 ) 8 ) 4

bee LIG&HSHS6L 621 V@GS Fnl lgeulenen QOMHG leumIdhaeriletn 6165016081&H6mS

3l) 1 3b) 2 ) 3 IT) 4
s16lLl &6 &FIJ VGFnl 1960 2 66 IEm)IH&H6etn 6163016081 H6MS

3 1 ) 2 a) 3 FT)4

@(h VG Fal lgeL 2 6ne len)dH&Herledn 616TI6mNSMS 2 61651160 i)

3l) bee 3}, fec @) scc FF) ccc

x - &SMGHedletl SemevLl LiGTienL 2 mid C&uigeur

3l) eonGeur 3 Ngné @) Gumn FT) [J6U0IL_ 3601
SlwevilLl Lig Shigeiles CQUTGIaITesT @\, 6UmH&6N

3l) AB, AB4 3l) AB2AB4 @) AB,AB2 FF) AB5AB7
AB6UMS SIILIENILILIG &HISHEDHSG 2 SHMTIEHUILD

3l)Zns 34)Zn0 @) BN F) @6me SlemeutdHGILn
NaCl Ug&dHemd Gamgll eluiles Qeultiu®Gédd 1% el HimLo

3l) LU&ems 3)) LDEHE6IT &) SpUEhar el FT) 261G
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16. damMI (A) WLl Lig&hiSH6eT 2 (hSHM H6L60G HmPaed Hlemeouiled LOl6IHL &GN 60T6HLAGMLLILI
Qummierenenr.
SMewIla(R):  @bblemeouned GMIUILL SLGUUTESE@HL 60T el Heti6oNldengins @ILmiGLD
Ses16nLoUTN6m6uTLl CLIMHM)I6T6N6DT.
3l) (A) LOMID  (R)&M, GLogILD (R) 601G (A) MG FMmest allenébaLn
3b) (A) LmmIn  (R)FM, GLogVILD (R) Q681G (A) MG FMMest allensbHld 6060

@) (A) &M (R) Hum F) (A) Heuml  (Ry&fM

17. Nemeu(hld 61hHS GemMUNE LigHhibeNes SILTSHHMI GHDEHHAMGI?
Qe Hment &Genmun(h Q) ~UJh&SeL &Gemoun@®
@) egr& @mpur® F) @eumiiev @smmun®

18. Meteu(pld 61HS QbHMA QAUTHHS iMLOLILTED 6T6T(LNSH Si6MLOLIL 2 (heuUTHMEGI?
Sl)FcC 3})BCC @) scc FF) HCP

19. eimeu(heUsIDHMIET 61| CLNVHInMI LIGHLD I6D6V?

3l) H06HMe0 HMMEOLE ) AIN &) smeurLd F) CLOM&EHIIL. 60601 SHGILD
20. uys augeumLLINenen SianeNsGL @@ HMhS (LLEMMILITGLD

Sl s (Lnenm 3)) QL& (Lpemm

@) x -5Hn eledlloy elenene Iylle)] FF) LJHRISHED (LAHD
21. U s allgeuemLOLILTNeM6 SHLNMENULSMNEG -———LIg8 SHMLALILISENT SIT6suILILI(H & 63T M60I.

3) 5 ) 7 Q) 12 FF) 14
22, NaCl ugssdsd Na' owelamw @Gphaieien Cl° suielseafar eemenisama

9. 12 9. 8 @®. 6 w14
23. QUIHETENIOW! HOTFFHIT DIGMIDLILTGH &|6m6T6)| 616001

9. 6 o). 4 ®. 12 . 8

24. eaoflw HFHT DEDIOLLTED CLPEN6LUTED 2 6T6N DIgmIITETSH LIS LILIL (HeTer
9I6VG S In([Hb6160T  6T6u0T600T e B

9. 1 TR ®. 8 w4
25. bcc UEHHL T DVGHS Fnl 19eVI6IT6N OLOTHS DiewISHH6M6I  6TemTenlldhemd
9. 1 o 2 ®. 3 w4
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1 ellgwungg Gl flés GLoevmblenevLiLisiTer
FSH S TLOLITEN6IUILD

aguy : Xl

urLd  Geugluiwied 7 Geudleflemenr Gouseilied

1. &Bm (A) : abd b CHrHHad alemer® CummeTser, alameralamerll CuIT(BL ST
mplUGL CoausshHar almanBasd @GMILLIBHS @B
asmyenid (R) :aleweu® QummL sefler QFpfley GHmmey Sievevd alene alenernGLImmHL o6l
Cepley SIFHsMILTD BFH DeNHSBWILBGSBSI.
9. (A) wppid (R) af. Gwsb (R) ez (A)aiBg gflwmer alendsib.
. (A) wppd (R) gf. Guauid (R) eyena (A)alBeg silwmer allendsid 9i6060.
8. (A i (R)saupl F. (A) seup (R)a
2. BB (A) :  Sleniey BMeNeL Al GHOBEUTRT MBBeNEVSH  O\HTEIT([H6NTEN
eV BIBEHHHmL B Gorged Hah BCurg SjmeuseT s6alals LOTBBRISEHSEHLD
2 I L{BH6euZH606m60.
s1yewitd (R) :alemet Hlaw CouswiBd elefled, GLTHMIMID (LPVSHFBIFH6T @(H GSBILLILL Si6ney
GmBhS ULF Smpeneoll Guppimes Ceuewt(BLd.
9. (A) wppid (R) gf. Guwed (R) seig (A)elBg gflwmer alendsib.
o (A) wppb (R) gf. Guapid (R) ewenag (A)alBeg Filwmer allendsid i606v.
®. (A) i (R)seum F. (A) seum (R)aM
3. Sifaieiwed Fweaumiged ‘R @piliug)
9l SIFHTCl6u6wT STy 6woT 1. eumuy ompleVl 8. Hene) suBBed F. FHeoll OeuliLblenso
4. UesteuheuameuBmiel alenanGausdhams LTHoH@GID srgenl 61H?

9. alleweB QUmHL SHeriler BlenevenLlo 9. alewearu Qumml seflar GFpsley
®. elenearuier OGeuliLmpensn . Beme SIMEITHHID

5. eteoLemy BTHdH HCl (psiieiensouied BIMBLGSH0 alleneaiuier alleneroens ---------
8. QIWILTD 6lehd alenet 9. Uoddul auend  allene
®. Gumed (pHeL euME allenent F. (PH60 6UND 6leneot

6. uBBw agms eloauis eloaGas LTHedule SIe0E -
O LT Guomed alpmg’ o Gored LT alprg’ 8. alpg’ F. eI elpmg’
7. (WWVSImDB BaTTaBIUSBEG CHMAILBD B EBULF GYBBED  -----rmmmmmmmmee

9. BUSH QYMBO . GHOBHS ULF DBB6O B. BlemevoLBBeL . &leMiTeyml
SHBBE
8. SITanSeluler) FLOGTUM(H  ---------------
o k=Ae YR o). k = AeRT/E2 @ k=Ae /R w. k= Aef/RT
0. alemerGousF FLOMUTL 1960 2 6o OQFplaydlenel DIBHHESGHN FnBHFHED --------------
O, (LP6VETn 6T6U0T o1, aleneralemnd 8. alemearGaismid . aleneanBsusLomsed

10.  elewaiu® cpevdImmIBeT qaimihd Gumeaul L aufiseaisy alenearul B GeusiGaiy
T OUT(HETHMNT HHLD GNGHEOI-——---

9. 9IbHHBSHH HaWD allener o Benent allenest
®. aFHorHiT aleneo . gmISe  allenent
1. @m WwHeo aumd almeuie Semyeutpe) Grywb 10 BIOL mSeT elaled, DiHaT alamearGas
oTpsledl -
S 6.93x10° EifLb’ S 6.93x10° HALD' ©. 6.93x10° ®ALD'F. 6.93x10° @O LD’

12.  aA—bB. aa@p almemuied almerGaisd EMHIDLMSTGWOUTEH A-61 GFpley BTG LOLBISTGLD.
I T R T T R —

1 1
o1 KA o K[A]? 8. k[A]? w. K[A]
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9 elmenuisy Ea=0 wmmid 300 K - 60,  k=4.2x10" aiprg’ stafled, 310 K-60 k-g1 gy -

91.4.2x10° alpBmg’ o). 8.4x10° afpmg’

8. 8.4x10° aipmy’ F. Biteniulbs Guieong

alenaGausid K[A][B]> Bzt CTsHs almaiams 3. g aliCuTs almeals 1 2 elen
alleneTIm@LD?

9. A &1 Gapllemeu 100 LM GmphGHD Gurg

. B a1 Gapfleweu 100 LM GoBHGHh Curgl

®. A a1 Gaplensu 100 OLMIG 135 MEEG0LCUTSH

F. B arQapleney 100 wLmi@ SiFsfs@n Curgl

Ueateupd alemalB@ll QurmbswTer aldLawd CHThHOHH, HenTeyml SiBBeder LS
SIFB0TH B HEHSGWBUTH @ aleneruier Geausld

9. SIFHLD 8. L0BHGHmMmey 8. LoImIg F. HiTeoulss Suieorg
RH (WH0 auend alenat 32 HIOLSHHO 75% Blenmsey GUBIBBH erefled 50 alenen Benmey OLB

SLGID HT6UID 6I6IAIETR|7

9. 4 HLLD & 8 LD ®. 16 BiflLib F. 32
BIOL 1D

M I NWLSEH SHETMLUMLUL HANDSHE HenJauTpe| Hmeod 80 BIL &6 660 240

BT SHeifled @Tewih SHITD HNOD GHMBUID D66

9. 025 & & 0.125 &l 8. 0.58) F. 0.758)
LelteuheuameuBmle 6% alenanCGaisd OCBTeTMNEHDHEHHE 2 L LLTH ailenel?

9. ereroLifleir oiflev BITBLIGLIL 9. N2Os  FeangsHe0 alenest
®. YyGynGBuwr GueiiFenenr LGImOGaIBBL OlFUIg%H6e0 F. sHNWESHEF FendHe] alenest
Lereu(meueeuBmien elemd E, gy mitewrid OFuisBsg?

&l (LPEVHInN] 6T6NT 9. alenanBalsmid

®. almeraland . SIDTUTIDE| BHTEULD

2N,05 = 2NO, + 0, 61681 NEMET (LNGHEL 6UMS El6M6U Y GLD. NleM6uTUNEDT CLOGVGHERMI 6168,
3l) ROEMD CLAVGHFam ) CUTED MMM CLA6VHInM)
8) @rLenL cpevdbdam ) GLoGev 2 eren sTemeul|ld @eLem6e0
1 . SN iy . 0 . o . .
5A—28 66D allemenuiled ‘A uledt LMD ellenert CoausdHmd B 61 GCoHTEIMILD eTlement
CouadglLevimest CIGHMLIL.

d[A] _1d[B] d[A] _d[B] d[A] d[B]

2 1diB] _4i]_1d[B] _dA] _d[B] _dial_ ,_diB]
)_dt_Zdt b) dt 4 dt c) dt ~ dt d) dt_4dt

A+2B —=C 61601 eXlemenuiledt, R=k[A] [B]’ 6T601MI ENMEBICoUBLD QHT(HSHSHLILIL BTN, 61606T6UMS

a)3 b) 6 c)5 d)7

2A+B—C+D 61601 616l el6n6oTUT6D CLACLSHFnM) 616301

3) LBHLn 2b) @6 Q) @neul T) eLesI )

Nesteu(heueeUMMIET 61hd UMM (LNHEL eUeNS 6Xl6M6u &HHIT6sIG)?

1 1 1 - 2303 a d)k=1
AN R ) K=t

K=Aetr &H&MSH 61HS epetim FMIT6IGI?

3l) Ea Hleniieyml MMeEL Q) R MQUMS ommhied

@) k goblemev LAMMIED  FF) A LIJLILSSH6UT SHT6ud

X

a) K=§ b) K
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1 ellswuryg) Gl flé GosvmlemsvLiLieiter
F&HSJTLOLITEN6IMULILD

gy : Xl

urLd  Geugdlulwied 8. swel&FFiofamen

1. @M HJF606 P" =2 srafls0, 860 2 siten maml yegen Suwellset QEnfley Gomso/edr LMy ...
o) 1x10™ o) 1x10™ @) 1x107 F) 1x107

2. YLEVVAITEVL. BiTHHe0 g el 61HBE OUTHHSHHIIQUISHI?
o)) CH;COOH =) NacCl @) NaOH m) H,SO,

3. 0flewsaisd o wppid C QFley 2 6o @@ SIL DL GILGMNSHE DUETOITEIL  HiTdHH60
allg...

o e B e B K= 5w ke g
4. Ggmguid SIFILCLLL F19E iblevdHHI 61 CFTHGD Cursh F s flevddlen Lflens
BID ......
9l 2 WHSBS ) GDDBBS
@) LDTBTIOEL 2 66N F) LU FAWworasmal

5. 6006060 GHemB SiLOl6VID LOMMID 2 L] 2 61T HTHIHED HEDTF6VI6 enBL JM6T Sjulel G&Fnse)

Bad] o) [H']=Ka[Salt] @) [H']=Ka[Acid] m) [H']=ka L2d]

1) [H']=Ka Salt ] [Acid |

6. @ e flwiw Gempbs WeTuGeaiuler Uflens aisd siger QuTs Sjwelanuis CFTILSTL HmMeug)
9)) LledT 261(h(HeEU6D o) Firemo OsBHe0 alenerey
®) Qurs Swed allenenay ) (b (HLD alenerey

7. RIS HenjFede pH o sewsHL LwWETLGMG

ol Camevgmay algl . SlTaselwed FLoaTUT®H
®. urgCL alg) F. OameniLiTger FLOLIT{H
8. auedewio GHemphd SiflevdHesr Ka=1x 1076, erefled pKaogliiy
9. 5 9. 6 ®. 9 . 2
9. 298K -0 pKw wa&liy
. 10-14 o). 14 8.7 w. 10-7
10. auededD GHMBHS SiblevldD OBBID DiFHe 2 LIIBSTR GBI TFeT FLoTUT(H
1) pH = pKy + log [salt] / [@ndevd | <) pH = pKy + log [salt] / [ondlevid]
®) pH = pka + log [salt] / [@iflevd] #) pH = pka + log [acid] / [2_114]
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11. pH + pOH = 14 aeiugy eiBumg FTHHWLTGLD.
9. 25°C & &b 25°C Gwed ®. 25°C F. Slewershd GeulLmleneouieid
12. HMRIBD HOIFD DILVOTHSI 61F|
9. NH4OH + NH4Cl &) CH3COOH + CH3COONa &) H2CO3 + NaHCO3 #) HCI + NaCl
13. 918 195 IflvSHST owelwnsed wrpsled 1.74x10-5 0.05MaempFedea Lflend s OBHBID DIGH6T

pH
9. 1.86x1024 . 124x10-3,4 ®. 124x103,3 F. 1.86x1023

14. oufleod A-a1 Kawgdliiy 1.0x10-6 aeiled A+H30* = HA+H20 @eualewenuiesr K wodlliy wmg
9. 10x10-8 & 10x10-4 ®. 10x10-3 F. 10x100

15. 25°C - 60 pflesr pH 7.0 Qauliuplensy oifasfs@d Curgl Biear ouwelwunss oiHsfadnBgl. eeflled
OH sweluler Gaplley swwrdpg.. 60°C smw piler pH  wrg

91.7.0 &@ &wib a7 $G DHHD ®. 7 oL GHoBey F. UBSlusHFHBE Lo
16. @ seygedesr pH=4.70 eafed OH- guweluier Gspley (pKw = 14)
o). 5x10-10 &1, 8x10-12 ®. 2x10-> . 9x10-5

17. 91l s oflevdden K, =1.8x10-5 eefled 0.01M AcOH wppib 0.005M  smevdlwid o1 Gt
o eiten demygFedev o eiten  [Hz0*] Ganfley wimg?
9. 1.8x10°M . 3.6x10°M ®.0.9x10°M 7. 0.005M
18. BTHd HMIeTeL DI H6T 6leleUmBLTET FLOHleneouied o eierment
9. SWNF FLoPleme0 o). Cougl FFomlensv
8. o BBIL & AFewHLd . CoBsHewiL  61516|L0606m6V
19. 91fl s ofievsHear el wrfled 1.8x10- safled arFGFBlaled 2% LiflenswienL wb
9. IM 91,.0.018M ®. 0.18M . 0.045M
20. 918195 SfevhHer Liflens wrpleduler wainy 1.69x10-5 0.01Mef 19é oidlevid 0.001M HCI
weaieneoullar et Liflens aisd
9. 041 9. 0.13 ®. 1.69x10-2 . 0.013
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SHRI VIDHYABHARATHI MAT. HR. SEC. SCHOOL,
SAKKARAMPALAYAM

1. Complete the following reactions

i) CH,- CH,- OH B, A mNoH ,p %
i]_) CﬁIIS— OH Zndert A CH,Cl B acid KMnO C

Anhydrs AICL,

t-batylchloride Cly fFeCL, HBr ., —
AlCl, > A >B 3 4%

CHOHCH .
: H i) 05
- A - = B
CH, 1) H,O

Phenol is distilled with Zn dust followed by friedel — crafts alkylation with propyl
chloride to give a compound B, B on oxidation gives (C) Identify A,B and C.

iii) Anisole

iv)

H;O™" HBr Mg / ether HCHO / H;OF
CH;MgBr+ = A = 3 = C

O
Identify A.B.C.D and write the
compelete equation

4. Predict the product A,B,X and Y in the following sequence of reaction

ela! Mg
butan - 2- ol 2 A B
ether

Cu /573K X

5. Complete the following reactions

i) OH

CzH;COCl Nitration
> A » B
OH"

(major product)

6. A Compound (A) with molecular formula C2HsN on acid hydrolysis gives(B) which
reacts with thionylchloride to give compound(C). Benzene reacts with compound (C)
in presence of anhydrous AICls to give compound(D). Compound (D) on reduction
with gives (E).Identify (A), (B), (C),( D)and (E). Write the equations.
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7. lIdentify A, Band C

o PCl; Benzene
benzoic acid > A >
Anhydrous
AlCl,
C,H;OH| H
CéHsMgBI'

8. How will you convert benzaldehyde into the following compounds?
(i) benzophenone

(ii) benzoic acid

(iii) hydroxyphenylaceticacid.

9. Write the structure of the major product of the aldol condensation of benzaldehyde
with acetone

10. Oxidation of ketones involves carbon —carbon bond cleavage.Name the product(s) is
/are formed on oxidising 2,5-dimethyhexan-3-one using strong oxidising agent

11. Identify compounds A,B and C in the following sequence of reactions.

~ HNO C,_H.OH

CHNO, —FHC, , — 2 s 65— ¢
CH, Br CH,;COCI' BH

iv)CH,NH, SENSEENY\ - 5B 5C

12. Identify A,B,C and D

Li AlH XCH,CH,Br H,50
4 }A 3 2 )B 29y

S
@!

CH3sNO;

13. Identify A,B and C

OH COH
So(Cl, NH LiAH
M . . . o

14. Predict A,B,C and D for the following reaction

=
T N A KOH H,0 /H"
K L o /A L, Y © ", D+H,N— CH— CH,
|

= e CH,
|

15. Identify A to E in the following frequency of reactions.

CH;C1 HNO, / H,S0 Sn/HCl NaNO, / HCl CuCN
A . © oC =D —

E

AlCk (Major
product)

Kindly Send me Your Key Answer to Our email id - Padasalai.net@gmail.Com



https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

www.Padasalai.Net www.Trb Tnpsc.Com

SHRI VIDHYABHARATHI MAT. HR. SEC. SCHOOL,
SAKKARAMPALAYAM

1. The conductivity of a 0.01M solution of a 1:1 weak electrolyte at 298K is 1.5x10* S cm™
i. molar conductivity ozf the solution
ii. degree of dissociation and the dissociation constant of the weak electrolyte
2. Is it possible to store copper sulphate in an iron vessel for a long time?
Given: E%,*/cu+=0.34V and E%ei/re = -0.44V.
3. 0.1mcopper sulphate solution in which copper electrode is dipped at 25°C. Calculate the
electrode potential of copper. [Given E%,**/cu+=0.34].

4. lonic conductance at infinite dilution of AI** and so? are 189 and 160 mho cm2 equiv

Calculate the equivalent and molar conductance of the electrolyte Al;SO4); at infinite
dilution.
5. Calculate the molar conductance of 0.025M aqueous solution of calcium chloride at

250C. The specific conductance of calcium chloride is 12.04 x 10-2 Sm-1,

6. Calculate the molar conductance of 0.01M aqueous KCI solution at 25°C. The specific

conductance of KC/ at 25°C is 14.114 x 102 Sm™.

7. The resistance of 0.15N solution of an electrolyte is 50 (). The specific conductance
of the solution is 2.4 Sm-1. The resistance of 0.5 N solution of the same electrolyte
measured using the same conductivity cell is 480 (). Find the equivalent
conductivity of 0.5 N solution of the electrolyte.

8. The resistance of a conductivity cell is measured as 190 () using 0.1M KCI solution

(specific conductance of 0.1M KCl is 1.3 Sm-1) . When the same cell is filled with
0.003M sodium chloride solution, the measured resistance is 6.3K(). Both these
measurements are made at a particular temperature. Calculate the specific and

molar conductance of NaCl solution.
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SHRI VIDHYABHARATHI MAT. HR. SEC. SCHOOL,
SAKKARAMPALAYAM

Barium has a body centered cubic unit cell with a length of 508pm along an edge.
What is the density of barium in g cm-3?

Calcululate the number of atoms in the sc,bcc,fcc unit cell.

Atoms X and Y form bcc crystalline structure. Atom X is present at the corners of
the cube and Y is at the centre of the cube. What is the formula of the compound?
Sodium metal crystallizes in bcc structure with the edge length of the unit cell
4.3x 108 cm. calculate the radius of sodium atom.

The rate of the reaction x + 2y—product is 4 x 10-3 mol L-1 s1, if [x]=[y]=0.2 M and
rate constant at 400K is 2 x 10-2 s-1, What is the overall order of the reaction.
Show that in case of first order reaction, the time required for 99.9% completion is
nearly ten times the time required for half completion of the reaction.

The rate constant for a first order reaction is 1.54 x 10-3 s-1. Calculate its half life
time.

A zero order reaction is 20% complete in 20 minutes. Calculate the value of the
rate constant. In what time will the reaction be 80% complete?

Calculate the pH of 0.001M HCI solution.

10. Calculate the pH of 0.1M CH3COOH solution. Dissociation constant of acetic acid

is1.8x10->.

11. Find the pH of a buffer solution containing 0.20 mole per litre sodium acetate and

0.18 mole per litre acetic acid. Ka for acetic acid is 1.8 x 10-5.

12. 50ml of 0.05M HNOs3 is added to 50ml of 0.025M KOH . Calculate the pH of the

resultant solution.

13. Ksp of AgClis 1.8 x-10, Calculate molar solubility in 1 M AgNO3
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